e

%
— \Pmm ;-

Data Book 50Hz

Ahead > Beyond

3E Series

going beyond expectations

Looking ahead,




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONTENTS

50Hz

SPECIFICATION

PRODUCT FEATURES

MAIN APPLICATION

MODEL VARIATION

GENERAL SPECIFICATION PUMP
GENARAL SPECIFICATION MOTOR
PERFORMANCE RANGE 2 POLE
PERFORMANCE RANGE 4 POLE
SELECTION CHART 2 POLE
SELECTION CHART 4 POLE

TYPE KEY

PERFORMANCE CURVE SPECIFICATIONS

MEI INDEX SPECIFICATIONS

PERFORMANCE CURVE 2 POLE 32-125
PERFORMANCE CURVE 2 POLE 40-160
PERFORMANCE CURVE 2 POLE 40-200
PERFORMANCE CURVE 2 POLE 50-100
PERFORMANCE CURVE 2 POLE 50-125
PERFORMANCE CURVE 2 POLE 50-160
PERFORMANCE CURVE 2 POLE 50-200
PERFORMANCE CURVE 2 POLE 65-100
PERFORMANCE CURVE 2 POLE 65-200
PERFORMANCE CURVE 2 POLE 80-100
PERFORMANCE CURVE 2 POLE 80-160
PERFORMANCE CURVE 2 POLE 80-200

PERFORMANCE CURVE 2 POLE 100-160

PERFORMANCE CURVE 4 POLE 40-200
PERFORMANCE CURVE 4 POLE 50-125
PERFORMANCE CURVE 4 POLE 50-200
PERFORMANCE CURVE 4 POLE 65-160
PERFORMANCE CURVE 4 POLE 80-200

PERFORMANCE CURVE 4 POLE 100-160

Rev.0

201
202
203
204
205
206
207
208
209
210
211
212
213
215
216
217
218
219
220
221
224
225
227
228
229
235
236
238
241
245
247

101

e EBARA

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

CONTENTS 50Hz

Rev.0
CONSTRUCTION
SECTIONAL VIEW DRAWINGS 3E 32-125,40-160,

50-100/125/160,65-100,80-100 301
SECTIONAL VIEW TABLE 3E 32-125,40-160, 302
50-100/125/160,65-100,80-100
SECTIONAL VIEW DRAWINGS 3E 40-200 303
SECTIONAL VIEW TABLE 3E 40-200 304
SECTIONAL VIEW DRAWINGS 3E 50-200, 305
65-200,80-160/200,100-160
SECTIONAL VIEW TABLE 3E 50-200,65-200, 306
80-160/200,100-160
SECTIONAL VIEW DRAWINGS 3ES 32-125,40-160, 307
50-100/125/160,65-100,80-100
SECTIONAL VIEW TABLE 3ES 32-125,40-160, 308
50-100/125/160,65-100,80-100
SECTIONAL VIEW DRAWINGS 3ES 40-200 309
SECTIONAL VIEW TABLE 3ES 40-200 310
SECTIONAL VIEW DRAWINGS 3ES 50-200,65-200, 311
80-160/200,100-160
SECTIONAL VIEW TABLE 3ES 50-200,65-200, 312
80-160/200,100-160
SECTIONAL VIEW DRAWINGS 3E4 50-125 313
SECTIONAL VIEW TABLE 3E4 50-125 314
SECTIONAL VIEW DRAWINGS 3E4 100-160 315
SECTIONAL VIEW TABLE 3E4 100-160 316
SECTIONAL VIEW DRAWINGS 3E4 40-200,65-160 317
SECTIONAL VIEW TABLE 3E4 40-200,65-160 318
SECTIONAL VIEW DRAWINGS 3E4 50-200,80-200 319
SECTIONAL VIEW TABLE 3E4 50-200,80-200 320
SECTIONAL VIEW DRAWINGS 3ES4 100-160 325
SECTIONAL VIEW TABLE 3ES4 100-160 326
SECTIONAL VIEW DRAWINGS 3ES4 40-200,65-160 329
SECTIONAL VIEW TABLE 3ES4 40-200,65-160 330
SECTIONAL VIEW DRAWINGS 3ES4 50-200,80-200 331
SECTIONAL VIEW TABLE 3ES4 50-200,80-200 332
BEARINGS 3E 2 POLE 333

102

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

CONTENTS 50Hz
Rev.0
BEARINGS 3E 4 POLE 334
BEARINGS 3ES 2 POLE 335
BEARINGS 3ES 4 POLE 336

MECHANICAL SEAL 2 POLE(Standard & Optional) 337
MECHANICAL SEAL 2 POLE(Standard & Optional) 338
MECHANICAL SEAL 4 POLE(Standard & Optional) 339

COUPLING (STUB SHAFT/ FOR 3ES 2 POLE) 342
COUPLING (STUB SHAFT/ FOR 3ES 4 POLE) 343
BASE PLATE 344
COUNTER FLANGE & GASKET 345

DIMENSION & WEIGHT

DIMENSIONS & WEIGHT 3E 2 POLE 346
DIMENSIONS & WEIGHT 3E 4 POLE 347
DIMENSIONS & WEIGHT 3ES 2 POLE 348
DIMENSIONS & WEIGHT 3ES 4 POLE 349
PACKING 3E 2 POLE 350
PACKING 3E 4 POLE 351
PACKING 3ES 2 POLE 352
PACKING 3ES 4 POLE 353

TECHNICAL DATA

MOTOR DATA 3E 2 POLE 354
MOTOR DATA 3E 4 POLE 355
MOTOR DATA 3ES 2 POLE 356
MOTOR DATA 3ES 4 POLE 357
NOISE DATA 3E-3ES 2 POLE 358
NOISE DATA 3E-3ES 4 POLE 359

103

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PRODUCT FEATURES 50Hz
Rev.0

PRODUCT FEATURES

Energy-saving design
v Major improvement over our previous models by impeller designed
using our proprietary 3D inverse design technology.
v Higher efficiency means lower energy consumption and motor output,
and more compact size.

Easy installation and simple maintenance

v Alignment is not required.

v Back pull-out structure enables disassembly and inspection without
removal of suction and discharge piping.

v Shield bearings eliminate need for adding or exchanging lubricating
oil.

v Shaft seal flushing piping not required for the standard application.

v Air-bleeding not required.

v Simplified shaft seal and “O” ring body seal enable easy assembly.

Pump specifications & features
v' Maximum operating pressure: 1.6 MPa(*)
v Liquid temperature range expansion: -10°C to 120°C
v Back pull-out design
v ring casing seal

International standards
v' Pump design adopt EN733.
v Mechanical seal adopts EN12756/
v Protector fitted in accordance with EN294.
v Electric motor conforms to IEC60072-1 and IEC60034-1

(*) Several models are 1.0MPa

201

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

MAIN APPLICATIONS 50Hz
Rev.0

MAIN APPLICATIONS

BUILDING SERVICE
v Air conditioning-district heating & cooling
HVAC system
General water supply
Hot water circulation
Pressure boosting

AIRNIENIN

WATER SUPPLY
Water supply duties for municipalities

Heat station
—

Irrig.ation —
Drainage clean water

Fire protection

Swimming pool

Pressure boosting

AN N N O NN

@)
o

M
Air conditioner
Chilling unit
Boiler
Heat exchanger
Coolant unit
Water circulation unit

NN N N NN

202
% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

MODEL VARIATION

50Hz

MODEL VARIATION

Rev.0

Version

3E

pole

2 pole

4 pole

32-125

\ 4

32-160

32-200

40-100

40-160

40-200

50-100

50-125

50-160

50-200

65-100

L 2L L 4 4L AL 2E ai

L 28 48 48 2K 2 2R 4

Pump Size

65-125

65-160

65-200

80-100

L 2L 4R

L AL 4

80-125

80-160

80-200

L 2L 2

L 2L 2

80-250

100-160

Y 3

¢

100-200

100-250

203

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS

3E

SPECIFICATION S0Hz
Rev.0
GENERAL SPECIFICATIONS PUMP
50Hz
PUMP
Version 3E 3ES
Pole 2pole | 4pole 2pole | 4pole
Liquid Type of liquid Clean water, Brine(anti-freezing liquid) [1]
Handled Temperature [°C] -10 to 120
Maximum working pressure [MPa] 1.6 0r 1.0 [2]
Maximum suction pressure [MPa] 1.6 or 1.0 - Shut-off pressure
Impeller Closed centrifugal type
Construction|Shaft seal type Mechanical seal (with air ventilation system)
Bearing Sealed ball bearing (Inside of the Motor)
32-100/125/160/200 Flange DN32 according EN 1092-2 Standard
. 40-100/125/160/200 Flange DN40 according EN 1092-2 Standard
Pipe S‘:nt:jo” 50-100/125/160/200 Flange DN50 according EN 1092-2 Standard
Connection Discharge 65-100/125/160/200 Flange DN65 according EN 1092-2 Standard
80-100/125/160/200/250 Flange DN80 according EN 1092-2 Standard
100-160/200/250 Flange DN100 according EN 1092-2 Standard
Casing Cast iron EN-GJL-250-EN 1561
impeller 32,40,50,65 series EN 1.4301 (AISI 304)
80,100 series EN 1.4404 (AISI 316L)
Casing cover 32,40,50,65 series EN 1.4301 (AISI 304)
80,100 series EN 1.4404 (AlISI 316) stainless casting

Mechanical seal

SiC/Carbon/EPDM as a standard(Q1LAEGG)
SiC/SiC/EPDM as an optional(Q4Q1EGG)
SiC/SiC/FPM as an optional(Q4Q1VGG)
SiC/Carbon/FPM as an optional(Q1AVGG)
(For version see page 337+341)

Material O EPDM as a standard
-fing FPM as an optional
Designation Extended shaft Stub-shaft
EN 1.4301 (AISI 304) for | EN 1.4301 (AISI 304) for
32,40,50,65 series wetted part wetted part
Shaft Carbon steel for dry part | Carbon steel for dry part
EN 1.4404 (AISI 316L) for | EN 1.4404 (AISI 316L) for
80,100 series wetted part wetted part
Carbon steel for dry part | Carbon steel for dry part
- Cast iron EN-GJL-250-EN
Bracket Aluminium

1561

Accessory (upon request)

Counter Flange (See page 345)

Applicable standard of test

ISO 9906:2012 — Grade 3B

[1] Viscosity and Density shall be equivalent with water
[2] Depending on the model. See selection chart page 208 and 209

204

e EBARA

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS

3E

SPECIFICATION S0Hz
Rev.0
GENERAL SPECIFICATIONS MOTOR
50Hz
MOTOR
3E 3ES
Type Electric - TEFC
Three Phase
o IE2 from 0.37 kW up to 0.55 kW
Efficiency level (Reg. 640/2009)
IE3 from 0.75 kW up to 37 kW
No. of Poles 2 4 2 4
Rotation speed [min-1] ~2900 ~1450 ~2900 ~1450
Insulation Class F (temperature rise class B)
Protection degree (CEI EN 60034-5) IP55
. [kW] 0.37+18.5 0.37+3.0 0.75+18.5 0.55+3.0
Power rating
[HP] 0.5+25 05+4 1+25 0.75+4
Frequency [Hz] 50
230/400 +10% (up to 4.0 kW)
Voltage V]

400/690 £10% (5.5 kW and above)

Over load protection

Provided by the user

Casing material

Aluminium

Motor support material

Cast iron / Aluminium

Dimensions of cable entry

PG11, PG13.5, PG16, PG21 M32x1.5, M40x1.5, M50x1.5
M20x1.5, M25x1.5 M10x1.5, M20x1.5, M25x1.5

Flange mount (IEC motor)

IM B5 (up to 2.2 kW)
IM B35 (3 kW and above)

205

PM10U

E BARA CORPORATION




PM10U

IN-LINE CENTRIFUGAL PUMPS 3E
SELECTION CHART 50Hz

Rev.0
PERFORMANCE RANGE 2 POLE

3E/3ES-50Hz-2 POLE

U. SII g p.m 5| Eli Ifi) 1|5 EIO 3? 4|C| 5|D 6|0 ?|0 Elﬂ IPD 12||J IEI-D Elﬂl] 2'|50 SEIJO 4?0 5?0 6?0 EiODIOPD
T T — p— T [ B B I — [ —— i
Imp. g. p. m. 3 8 10 15 20 30 40 350 60 7080 100120 160 200 250300 400 500600  B0OD1000
100
80 .
[H] ] — ‘—D-‘ZOO/’S &
m 60 30~ 50~ - %z
50 2025~ 20/ , N ><s_|
3
._____iﬂ_'_200,-’4.0 » Sa. ‘?a;/h’\\ %‘;
‘0 40-200/35] s %,
~200/3 5 X N
o,
30 40-180/25 [ %0 S -z, \\ @
b, 53 %
| b~ o @ 2,
40-180 . // T
20 sz |~ f so-m%‘h RIAND N\ .
| S0. ! ) %
) ) - W2
32-125/0.55 90-150,,) 30-1253 & a. |"f0/, K £
|——-—._._ . 65—]00/ .’3%2 v -7,‘31
32-125/0.37 O-100/ 5 6
s 109 &
10 80-100/0.55 — = 010072,
] o5
8 / \J\ 7 7 80~
50-100/0.37 s

F
s
Y
HE—E’
h"'l-l..._‘
A
\\___\\-__ \\H o

s -
- I

3 T T T
10 13 20 30 40 60 80 100 130 200 300 400 600 800 1000 1500 2000 3000 5000
GCl/min)
I T 1T 11 T T T T T | T T T T T T T T T T T T 17T T T 1
06 08 1 2 3 4 [ 8 10 20 30 40 60 80 100 200 300
Q (n®/h)

% E2ARA EBARA corroration



IN-LINE CENTRIFUGAL PUMPS 3E

SELECTION CHART 50Hz
Rev.0

PERFORMANCE RANGE 4 POLE

3E/3ES-50Hz-4 POLE

S F . ln [|] 4|:1 5|:|] cln ?lcalu 1[|]DJE|C] mln e?c E?nztlm 4|:]|:J 5[|:n-:-[|m
I I I I T T T 1T T 1 T T T 1
Inp. Q. p. M 20 30 40 50 60 7080 100120 160 200 250300 400 500600
30
H 20 -
[ml
g
10 g
<2
i Py
| - S
& \ 109 60/ ¢ -:%
b =
4 —
3 / f
: / /
1 [ | I/
40 60 80 100 150 200 300 400 600 800 1000 1500 2000 3000
BCl/ming
[ [ [ [ T T 1 [ [ [ [ [ [ [ T 1 I3_
3 4 6 8 10 20 30 40 60 80 100 Q (m”/h)
207

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3

E

SELECTION CHART 50Hz
Rev.0
SELECTION CHART 50Hz 2 POLE
3E SERIES : 32 SIZE
- Imi 0 25 50 70 75 | 100 | 125 | 150
Pump type kW HP Max. working min
pressure (MPa) | m3h | O 15 3 42 | a5 6 75 9
32-125/0.37 037 | 05 1.0 146 | 143 | 137 | 131 | — — — —
32-125/0.55 055 | 0.75 1.0 172 | 17 | 16,7 | 164 | 163 | 156 | 148 | 13.7
32-125/0.75 075 | 1 1.0 249 | 247 | 239 | 228 | 224 | 205 | 183 | 167
3E SERIES : 40 SIZE
Max working | Umin | 0 100 | 150 | 200 | 230 | 250 | 300 | 400 | 450
Pump type KW HP | essre i) | m3h | 0 6 9 12 | 138 | 15 18 24 27
40-160/1.1 11 | 15 16 215 | 204 | 189 | 169 | 154 | 144 | 113 — —
40-160/1.5 15 2 16 286 | 272 | 259 | 241 | 228 | — — — —
40-160/2.2 2.2 3 16 352 | 345 | 332 | 314 | 302 | 292 | 266 — —
40-200/3.0 3 4 16 431 | 418 | 398 | 374 | 36 | 349 | 322 — —
40-200/4.0 4 55 16 511 | 499 | 479 | 454 | 438 | 427 | 398 — —
40-200/7.5 75 | 10 16 655 | 655 | 633 | 605 | 58.7 | 57.4 | 542 | 47.4 | 433
3E SERIES : 50 SIZE
oo voe | kv | pp | "Zerns [Vmin |0 ] 200 | 250 | 300 | 350 | 400 | 450 | 500 | 640 | 650 | 750 | 800
PP Pesy, |m¥n | 0 | 12 | 15 | 18 | 21 | 24 | 27 | 30 | 384 | 39 | 45 | 48
50-100/0.37 037 | 05 10 78 | 68 | 58 | 43 | — - - - - - - -
50-100/0.55 055 | 0.75 10 113 | 103 | 91 | — - - - = = = — —
50-100/0.75 075 | 1 10 147 | 1383 | 12 | — - - - = = = — —
50-125/1.5 15 | 2 16 181 | 181 | 176 | 169 | 161 | 151 | — = = = — —
50-125/2.2 22 | 3 16 246 | 244 | 24 | 234 | 227 | 21.8 | 208 | — = = — —
50-160/3.0 3 2 16 201 | 277 | 27 | 262 | 252 | 242 | 23 | 218 | 176 | — — —
50-160/4.0 4 | 55 16 37 | 358 | 35.1 | 343 | 334 | 324 | 313 | 301 | 264 | 261 | — —
50-200/5.5 55 | 75 16 435 | 42.4 | 419 | 412 | 405 | 396 | 387 | 376 | 34 | 337 | — —
50-200/7.5 75 | 10 16 534 | 517 | 51.1 | 50.6 | 50 | 493 | 486 | 47.7 | 443 | 439 | 40 | —
50-200/11 11 | 15 16 67.2 | 656 | 65.1 | 646 | 639 | 632 | 624 | 615 | 58 | 57.7 | 54 | 516
3E SERIES : 65 SIZE
BumD tvoe o | np | Maxwoiing [Umin [ 0 [ 100 [ 200 [ 300 [ 400 [ 450 [ 500 [ 600 | 900 | 1000 | 1100
plyp pressure (MPa) | m3h | 0 12 | 18 | 24 | 27 30 36 | 54 | 60 | 66
65-100/0.55 0.55 | 0.75 10 95 | 92 | 86 | 7.7 | — — — — — — —
65-100/0.75 075 | 1 10 111 | 108 | 103 | 95 | 84 | 7.7 | — — — — -
65-100/1.1 11 | 15 10 143 | 138 | 135 | 13 | 122 | 116 | 11 | 94 | — — —
65-100/1.5 15 | 2 10 181 | 172 | 17 | 161 | 165 | 162 | — — — - -
65-200/9.2 92 | 125 16 48.7 — — | 474 | 468 | 46.1 | 446 | 37.7 | 348 | —
65-200/11 11 | 15 16 54.1 — — | 529 | 523 | 51.6 | 50 | 434 | 405 | 373
65-200/15 15 | 20 16 69.0 — — | 683 | 678 | 671 | 657 | 595 | 56.7 | 535
3E SERIES : 80 SIZE
N v | p | Mecwotng [Wmin [ 0 [ 600 | 700 | 850 | 1000 | 1100 | 1300 | 1600 | 1900 | 2000 | 2100
plyp pressure (MPa) | m3h | 0 36 | 42 | 51 | 60 66 78 96 | 114 | 120 | 126
80-100/1.5 15 | 2 10 124 | 99 | 92 | 79 | — — — — — — —
80-100/2.2 22 | 3 10 144 | 13 | 126 | 11.6 | 104 | — — — — — —
80-160/9.2 92 | 125 16 336 | 324 | 32 | 311 | 30 | 291 | 269 | 225 | 167 | 144 | 12
80-160/11 11 | 15 16 37.9 | 369 | 36.4 | 356 | 346 | 338 | 3.9 | 28 | 22.8 | 20.7 | 18.4
80-160/15 15 | 20 16 43 | 42 | 415 | 407 | 39.7 | 389 | 37.1 | 336 | 292 | 275 | 256
80-200/18.5 185 | 25 16 55.4 | 543 | 53.4 | 519 | 50.1 | 48.7 | 458 | 406 | 343 | 319 | 29.2
80-200/22 22 | 30 16 62.8 | 613 | 606 | 59.4 | 57.9 | 56.8 | 54 | 489 | 42.7 | 404 | 38.1
3E SERIES : 100 SIZE
BumD tvoe «w | np | Maxworing [ Umin [0 [ 1300 [ 1500 [ 1700 [ 1900 [ 2100 [ 2500 | 3000 | 3200 | 3400 | 3600
plyp pressure (MPa) | m3h | 0 78 | 90 | 102 | 114 | 126 | 150 | 180 | 192 | 204 | 216
100-160/11 11 | 15 16 286 | 252 | 245 | 23.8 | 231 | 223 | 204 | 164 | 141 | — —
100-160/15 15 | 20 16 32.9 | 309 | 302 | 296 | 29.1 | 284 | 261 | 19.7 | 1561 | 89 | —
100-160/185 | 185 | 25 16 37 | 355 | 35 | 345 | 339 | 331 | 31 | 27 | 247 | 22 | 187
208

e EBARA

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

SELECTION CHART 50Hz
Rev.0
SELECTION CHART 50Hz 4 POLE
3E SERIES : 40 SIZE
. Umin |0 50 | 100 | 150 | 170 | 175
Max. working
Pumptype | kW | HP | pessueMPa) [ mam | o 3 6 9 | 102 | 105
402000055 | 055 | 0.75 16 126 | 12 | 111 | 98 | 91 | —
40200/0.75 | 075 | 1 16 162 | 159 | 148 | 131 | 122 | 12
3E SERIES : 50 SIZE
. Umin | 0 | 100 | 150 | 200 | 250 | 300 | 400 | 450
Max. working
Pumptype | kW | HP | pressePa) [ mah | 0 6 9 12 | 15 | 18 | 24 | 27
50-125/0.37 | 0.37 | 0.75 16 6 | 61 | 59 | 55 | 49 | 42 | 25 | 15
50-200/0.75 | 075 | 1 16 104 | 101 | 98 | 94 | 89 | 83 | 65 | 52
50-200/1.1 11 | 15 16 13 | 126 | 124 | 12 | 115 | 109 | 93 | 86
50-200/1.5 15 | 2 16 164 | 158 | 1565 | 152 | 147 | 141 | 123 | 111
3E SERIES : 65 SIZE
R | up | Mexwerng | Umin | 0 ] 200 [ 250 ] 300 | 350 | 400 | 500 | 600 | 700 | 750 | 800
ump type pressure (MPa) | m3h | 0 12 | 15 | 18 | 21 | 24 | 30 | 36 | 42 | 45 | 48
65-160/0.75 | 0.75 | 1 16 73 | 72 | 7 | 68 | 64 | 61 | 51 | 39 | 26 | 19 | —
65-160/1.1 11 | 15 16 88 | 87 | 85 | 83 | 8 | 76 | 67 | 55 | 4 | 31 | 2
3E SERIES : 80 SIZE
o | up | Mexwerng | Umin | 0 1350 | 500 | 600 | 800 | 950 | 1000 [ 1050 [ 1100 [ 1200
ump type pressure (MPa) | m3h | 0 21 | 30 | 3 | 48 | 57 | 60 | 63 | 66 | 72
80-200/2.2 22 | 3 16 42 | 138 | 13 | 123 | 105 | 87 | — | — | — | —
80-200/3.0 3 4 16 159 | 152 | 145 | 139 | 121 | 105 | 98 | 92 | 85 | 71
3E SERIES : 100 SIZE
T Umin| O | 600 | 800 | 950 | 1000 | 1050 | 1100 | 1200 | 1300 | 1400 | 1600 | 1800
Pump type kw HP Max. working
o pressure (MPa) | m3/h 0 36 48 57 60 63 84 96 108
100-160/1.5 | 15 | 2 16 77 | 69 | 67 | 65 | 64 | 63 | 61 54 | 5 | — | —
100-1602.2 | 22 | 3 16 96 | 9 | 88 | 86 | 85 | 84 | 82 76 | 72 | 62 | 5

e EBARA

E BARA CORPORATION




IN-LINE CENTRIFUGAL PUMPS 3E

TYPE KEY 50Hz
Rev.0

TYPE KEY

3E| 432 - [125// 0.75 - Q1AVGG

\— Optional Mechanical Seal

NA : Q1AEGG (Standard)
Q4Q1EGG (Optional)
Q4Q1VGG (Optional)
Q1AVGG (Optional)

Motor Power (kW)
0.37/0.55/0.75/1.1/1.5/2.2/3/4/5.5/
7.5/9.2/11/15/18.5/22

Nominal impeller diameter in millimeters
100/125/160/200

Suction/Discharge nozzle, nominal size in millimeters
32/40/50/65/80/100

Number of poles
NA=2 poles
4=4 poles

3E Series
3E : Extended shaft model
3ES : Stub shaft model

210

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE SPECIFICATIONS 50Hz
Rev.0

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to 1ISO 9906:2012 - Grade 3B

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.
In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of
best efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head

P>, = pump power input (shaft power)

n = pump efficiency
NPSH = net positive suction head required by the pump
MEI = minimum efficiency index

211
% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE SPECIFICATIONS 50Hz
Rev.0

MEI INDEX SPECIFICATION

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the
best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full
impeller diameter. The trimming of the impeller will adapt the pump to a fixed duty point, leading to a
reduced energy consumption. The minimum efficiency index (MEI) is based on the full impeller
diameter.

The operation of these water pumps with variable duty points may be more efficient and economical
when controlled, for example, by the use of a variable speed drive that matches the pump duty to the

system.
MEI = 0.4 for ESCCi 2900rpm MEI=0.7 for ESCCi 2900 rpm
0 ﬁf‘w‘wu‘-'\“‘\ “. ‘\, \ = “"
j\ “,\“'\
il
ik
10° 1|
£
o
i
101 {
MEI=0.7 for ESCCi 1450rpm
G : MEI=0.7 for ESCCI 1450rpm
10 —‘.W\HHI“HH |1\ —610 /) ) / ’»" | ] ) | 10 ‘\‘Mi“]” ‘\‘M i f )] ,' |
1 f;“ ‘\“' \ ~ ° F 4 s {1 \ ~— 840~ / /] /
Z\fﬁ‘“ L ) ) %é\l‘\v‘\« ) 85— 4
I i I
i
102 102 |
£ £
o o
H H
10’ o
100
% Em EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 32-125 2 POLE

32-125/0.37 (0.37 kW) - impeller diameter = 114mm
32-125/0.55 (0.55 kW) - impeller diameter = 135 mm
32-125/0.75 (0.75 kW) - impeller diameter = 144 mm

0 US.gpm. 10 5 20 25 30 35 40 45 50
| | | | | | | | | | |
[ I I I [ ! [ [ [
" 0 Imp.g.pm. 10 15 20 25 30 35 40
T TT— — 80
-""'""-..
H T H
7
[m] - ?IH)
23 .-_"'ql‘.“
|25 0 7s )
70.75 S — 60
NN SN
—-..._,_____I__ \.‘-
Pt | e
m— — 50
15 —~ ] 155/0 ')‘-_. -‘-"""-..
-‘-""'"--.__' B
125 /0. 37 40
10
NFSH [~ 30
[m] [ft]
§— 20 20
5 5 45
l“"""‘"--—-.._,_' . 4
— ]| NPSH 341010
[— 2_
il
0 0
0 25 50 75 100 125 150 175 0 [I/min]
[ l I I I I I I I I l l ]
0 1 2 3 4 5 B 7 B g 10 11 [m3h]
0.8 -
. L 125/0.75
Z 06 T Ll
[kW] ™ ] 1 125/0.55
- 125/0.37 [ ——
0.2 |
0 25 50 75 100 125 150 175 Q [I,/min]
80
T
n 80 - 125/0.55
7] A e —— 125,/0.75
40 T —
T 125/0.37
_,-" -~ * Wi
20 ~
0
0 25 50 75 100 125 150 175 0 [I/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
213

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 40-160 2 POLE

40-160/1.1 (1.1 KW) - impeller diameter = 133 mm
40-160/1.5 (1.5 kW) - impeller diameter = 151 mm
40-160/2.2 (2.2 kW) - impeller diameter = 166 mm

0 US.g.pm. 20 30 40 50 60 70 80 90 100
| ] ] ] | ] | ] | ] ]
[ [ [ | | | | [ [
0 Imp.g.p.m. 20 0 40 50) B0 70 80
40 130
H 120 H
[m] 35 —= = [f]
—~l_ I6p —110
~_ /2.2
T
~L 100
30 ~
— T~
= ] ""\-..,__ — 50
~= , -
~L 00
25 .._h‘_h_/;, 5 .
_‘h‘"‘-
e e e 3 70
0 ~— NESH
~_ 760 [m] [ft]
~. L 60
N~ — 25
'l,'_
Y 50
15 - S
NPSH S 3410
— 40
S
10
0 80 100 150 200 250 300 350 0 [1/min]
[ | | [ [ [ | [ [ [ | [ |
0 2 4 B B 10 12 14 16 18 20 22 Q [m3h]
2.:.:' T T T
32 2{] HE. _____._-—- DD(’rgg
W =
5 I = 160,/1.5
10 ——— 160 /1.1
’ [ |
05 [ 11
0 50 100 150 200 250 300 380 Q [ /min]
B0
n A 160,/2.2
— I 160/1.5
[%] 55 =
/’,.-' ,";:": ™
50 e 160/1.1
45 .
0 50 100 150 200 250 300 350 a [1/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
215
% Em EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 40-200 2 POLE

40-200/3.0 (3.0 kW) - impeller diameter = 186 mm
40-200/4.0 (4.0 KW) - impeller diameter = 200 mm
40-200/7.5 (7.5 KW) - impeller diameter = 224 mm

0 USgpm. 20 K] 40 50 B0 70 B0 40 0o N0 120 130
| | | | | | | | | | | | | |
| I I l l I l I l I I |
0 Imp.g.p.m. 20 30 40 50 60 il 80 50 100 10
80 — 260
H 240 H
[m] 70 [#]
220
- <=
P,
~_ P - 200
0
[
. — 180
Ty
7yl o e ™
0 i R 160
Tl “"""-._
B e')uo/‘f-_o
g g s ey - h NPSH |40
40 — T [m] [t]
T = %03, : 120
~— 815
= T T,
30 = —100
- - 1E
(=] 4 ’
= MPSH —10
24 — Bl
20
0 50 100 150 200 250 300 350 400 450 0 [I/min]
[ I I I I I I I I I I I I I I ]
0 2 4 B B 10 12 14 16 8 20 22 24 2% 28 Q[mh]
7
) JTTT1]
2 | 200/7.5_|
[kw] =TT |
= 200/4.0
3 - 200/3
] (111
0 50 100 150 200 250 300 350 400 450 0 [l /min]
B0 |
EI === [T
0 | 200/4.0
e
o N 200/7.5
30
20
0 50 100 150 200 250 300 350 400 450 Q [ /min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
216
% Em EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 50-100 2 POLE

50-100/0.37 (0.37 kW) - impeller diameter = 86 mm
50-100/0.55 (0.55 kW) - impeller diameter = 101 mm
50-100/0.75 (0.75 kW) - impeller diameter =114 mm

0 USgpm. 2 0 40 50 50 70 BO 50 100
| ] | ] ] | ] | ] | ]
[ l I I I | I l l
0 Imp.gpm. 20 30 40 50 BO 70 B0
o —
-l T | —— |
_— [
T 1o 43
H 20 75 H
[m] 12.5 ““""‘1.. 40 [ft]
———— [
= S ;
_ On 35
0 ‘*--./9-53
~25-
T~ - 30
s T R e 25
73 ~_ ?GO
[ ,/.v) }7
~— 20
T
- S NPSH
M [m] [7t] =15
#
7
W10
2.5 5 15
— NPSH =10 -5
5
0
0 50 100 150 200 250 300 350 a [I/min]
| | | | | | | | T | | | |
0 2 4 6 8 10 12 14 16 18 20 22 0 [m¥h]
08 1100,/0.75
~ I T v v
P2 0 — 00,/0.55
[kw] =
0.4 100,/0.37
0.2 —
0
i 50 100 150 200 250 300 350 @ [I /min]
70
0 100,/0.55 |
—
ol T | A ~, |
[Jé] b5 > = [ - T
yaPb RV 100,/0.75 N 100/0.37
- JL i
_ V- N
B0 g
/ A
55 i .4/
0 50 100 150 200 250 300 350 @ [I/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
217

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S50Hz
Rev.0
3E(S) 50-125 2 POLE
50-125/1.5 (1.5 kW) - impeller diameter = 125 mm
50-125/2.2 (2.2 kW) - impeller diameter = 140 mm
0 USgpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
5 Ir-1|:-.q.|:-.rr'.| 4||3 5||: Eil-D mlc- 12|a ul-u 1E|-C-
30
40
H H
f
[m] 25 === SEuNE 1 | [1t]
T -.._,E/?.Q
™ 70
20
o = =T T— - 4?{"5 — &0
— - /.’.3
15 I — 50
- 40
NPSH
10 [m] [} 50
LB
020
5 5__5
NPSH == S
— .:_:'
0 o
0 100 200 300 400 500 600 700 @ [I/min]
| I I I I I I | | I I I |
0 4 8 12 16 20 24 28 32 3 40 42 0 [m3]
3
N
1 - [125/2.2
[kw] — = 125/1.5
1 o
0
0 100 200 300 400 500 600 700 0 [1/min]
70
m = T 125/2.2
st -
[%] &0 125/1.5
;&”
50 V2
V7
/ ”
40 z
0 100 200 300 400 500 600 700 0 [I/min]
Rotation speed = 2900 min-1
Test standard : 1ISO 9906 Annex A
218

% E2ARA EBARA corroration



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 50-160 2 POLE

50-160/3.0 (3.0 kW) - impeller diameter = 151 mm
50-160/4.0 (4.0 kW) - impeller diameter = 166 mm

0 USgpm. 40 B0 B0 100 120 14D 160 180 200
| | | | | | | | | | |
[ | [ [ [ | [ [ [
0 Imp.g.p.m. 40 60 80 100 120 140 160
A 130
o~ i Y 120
Ho ~— H
[m] = — - []
— 110
P
30 504 o T — 100
e —
- ~ 90
]
75 ~— - A0
f&‘n .
S0 TN L
20 -
e 60
NPSH ”
v [m] [#]] 7
7 ?5—-1-.'.'1
b
0 5 s
MNPSH — Y30
——— e 3 0
) i
0 100 200 300 400 500 00 00 0 [I/min]
[ [ | [ | [ [ | | [ [ | |
0 4 8 12 18 20 24 78 32 I 40 e 0 [mh]
7 11
Pz 4 . 160,/4.0
LU | — .
T e — 160,/3.0
2 —
| |
: ]
0 100 200 200 400 500 £00 700 @ [1/min]
70 |
. 160 /4.0
e Ml | |
[%] 60 s —a 160/3.0
~
all
40
0 100 200 300 400 500 00 700 0 [I/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
219

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 50-200 2 POLE

50-200/5.5 (5.5 kW) - impeller diameter = 183 mm
50-200/7.5 (7.5 kW) - impeller diameter = 200 mm
50-200/11 (11 kW) - impeller diameter = 224 mm

0 USgpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
[ [ [ [ [ I [ [ I
0 Imp.g.p.m. 40 60 80 100 120 140 160
80
— 250
H H
[m] 70 230 [#]
~ — 210
60 —
—~ 190
*‘- iy
- b= ——— 200,75 170
50 T
[ —
T 150
—_——— = . =
40 T NPSH =130
T [m] [#]
"'l-q.-__' i
—~ =110
i bl
30 = 55
NPSH — s L™
5
—7
20 0
0 100 200 300 400 500 600 700 2 [I/min]
[ I I T I I I l I l I I Iq
0 4 8 12 16 20 24 28 32 36 40 44 Q [m9/h]
12
By 10 200,11
[kw] 8 —— - 200/7.5
6 T —— 200/5.5
2 puemp] | [
— -
5 I
0 100 200 300 400 500 600 700 0 [1/min]
* - ]
[%] —
60 —— 200 /11
50 fﬁﬂjr =
40 —_
30
0 100 200 300 400 500 600 700 0 [1/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
220
% Em EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE S50Hz
Rev.0
3E(S) 65-100 2 POLE
65-100/0.55 (0.55 kW) - impeller diameter = 88 mm
65-100/0.75 (0.75 kW) - impeller diameter = 94 mm
65-100/1.1 (1.1 kW) - impeller diameter = 104 mm
65-100/1.5 (1.5 kW) - impeller diameter = 114 mm
0 Uagpm. 40 B0 80 100 120 140 160 180 200
| | | | l | | | l | l
IIJ Ir'1|::-.g.|::-.r|'.I "rIEI Elﬂ El'SI IEIICI IEICI 1’|-I3 1I’.I*.-C'
30
490
H H
[m] 25 a0 [ft]
=70
20
=] — &0
15 100 /1 5 50
—— - — 40
10 P — ———= — _“-“"'" —— HPsH
— — 130"(1, I [m] [—'7] =30
100055 || /%75 "1 alba
5 i 5115
T N;.=55HI I —— 3 1010
T DR R I = 5
0 0
0 100 200 300 400 500 600 700 a [1/min
0 : 8 12 16 2 24 2 5 % 40 0 [rri 3h]
20 -
Fo 16 = 100,/1.5
[kW] 1.2 e —— 100/1.1
0.8 — — 100/0.75
0.4 100/0.55 -
0 1]
0 100 200 300 400 500 600 700 0 [1/min]
80 [ L =,
N 1 - -;;.-:%'F—'muﬁ.f; 100/11
[x] GU .-"“FI _10':')."“_5
1 _[100/0.55
50 e
40 e
30 -
0 100 200 300 400 500 600 700 Q [1/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
221
% Em EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S50Hz
Rev.0
3E(S) 65-200 2 POLE
65-200/9.2 (9.2 kW) - impeller diameter =191 mm
65-200/11 (11 kW) - impeller diameter = 200 mm
65-200/15 (15 kW) - impeller diameter = 224 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
(I) Imp.g.p.m. 5|G 1(|)0 1f'|>0 2(|}0 2%0 3(|)0
80 - 260
H 240 H
[m] 70 == [t]
— - 220
60 - - 200
\\
L &L N 180
50 -
I E———— - 160
= — T 200
~— 17
~] 7 NPSH 140
40 ~_ N [m] [ft]
IQOO o5 T 8y 120
| =~ 62
% NPSH | s - 100
— 10
24 5 —80
20
0 200 400 600 800 1000 1200 Q [I/min]
CIJ 1|0 2|0 3|0 4|0 5|0 slo 7’0 :0 [m3/h]
17 —
P2 E——— 200/15
[kw] " — L z?o/n
—_— 200/9.2
; ||
0 200 400 600 800 1000 1200 Q [I/min]
80
n
[#] 70 200/15
5 P e e ] 200 /11
_— 200/9.2
5 ||
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
224
EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S50Hz
Rev.0
3E(S) 80-100 2 POLE
80-100/1.5 (1.5 kW) - impeller diameter = 103 mm
80-100/2.2 (2.2 kW) - impeller diameter =110 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
é IMp.g.p.rm. '_;-Iu 150 1,'Lu 2c||o 2'_|;.G th:n
20
60
H H
[m] [f]
— a0
L 1
— ] —_— _ __h‘:?'ﬂ? 4
10 == 70 -
T~ .5 30
i
NPSH
[m] [#]]
20
8o
& 10
— NPSH PR
— =10
s
0
0 200 400 600 800 1000 1200 aQ [1/min]
t|3 lu aID 3.'3 4'0 5'(: rlc ?lu IQ [m3/h]
3
Pz
(kW] ) 100/2.2
100/1.5
. [ |
0 200 400 B00 00 1000 1200 a [I/min]
80 —
n o 100/2.2
[#] 70 L= 100/1.5
60
50
0 200 400 BO0 a0 1000 1200 0 [1/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
225
% Em EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 80-160 2 POLE
80-160/9.2 (9.2 kW) - impeller diameter = 160 mm
80-160/11 (11 kW) - impeller diameter = 168 mm
80-160/15 (15 kW) - impeller diameter =178 mm
0 USgpm. 100 200 300 400 500 600 00
l l | | | | | |
5 Imp.q.p.m. 1c|m 2$0 arl}o 4r[;o 5r|:|o arlJo
20 160
| | 40
[m] T T —— 1 |
m 0 ""--.,____“‘-_\\
A S e [ | |
P T R,
30 """‘"'-\ ~_ \\ 100
\\ %3 N
AN — 80
TN
20 é;!? <
i ! \ T wesn | 0
[ _\>< | L] (7]
. f=—20 —40
10 NPSH_—._‘___,.--*/ 45:_15
1 __/"—‘HF.—_ T 3——10 _20
| ! ! 7 —
1_—5
Q 0
0 400 800 1200 1600 2000 2400 Q [1/min]
nlj 2'0 4'0 5'0 alo 1f|JCI 15_0 140 IQ [m3/h]
® - - | [ 160/15
[Pz] 0 ; 160411
kW — 60,/9.2
Q
0 400 800 1200 1600 2000 2400 Q [1/min]
90 -
n 5
e
(%] 70 ”a,..d—"" 0 160/15
50 \ \16§f11
160/9.2
30 :
0 400 800 1200 1600 2000 2400 Q [1/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
227

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 80-200 2 POLE

80-200/18.5 (18.5 kW) - impeller diameter = 201 mm
80-200/22 ( 22 kW) - impeller diameter =212 mm

0 U.S.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
| T I [ T | [
2 0 Imp.g.p.m. 100 200 300 400 500 600
- 220
H H
[m] =T = | ooe Lt
60 B~ 200
i
I e ™NL <o - 180
- o)
—-‘\\.\ \\/QQ
50 S
\\ 90 N 160
\ 0/7& \\
L5 \\
\\\ \\\ 140
M M
40 C
N 120
\s NPSH
[m] [ft]
30 . —100
30
8
L 620
NPSH_ et 4 - 80
10
| 2
20
0 400 800 1200 1600 2000 2400 Q [1/min]
[ [ [ I I [ I [ I
0 20 40 60 80 100 120 140 Q [m3/h]
24 —
Py 200/22 —
(k] E——— [ | |
16 — —] 200/18.51
" —
| et
8
0 400 800 1200 1600 2000 2400 Q [i/min]
80
n -
200/22 |
40 200/18.5
20
0 400 800 1200 1600 2000 2400 Q [E/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
228

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S50Hz
Rev.0
3E(S) 100-160 2 POLE
100-160/11 ( 11 kW) - impeller diameter = 154 mm
100-160/15 ( 15 kW) - impeller diameter = 165 mm
100-160/18.5 (18.5 kW) - impeller diameter =174 mm
0 USgpm. 200 400 600 800 1000 1200
| | | | 1 | |
5 {ll Imp.g.p.m. 2c|30 4c|10 6[I}O aclno 10|00
160
H H
[m] 10 [
40
S ————— 120
E———
i R e, 2 e
10 — NG Q/;@S 100
——— BENGN
-\\"““"---.. N8 \\ - 80
\f’so/;'\ N
20 N -
\k
NPSH
\ [m] [f]L 49
10 \ 10 1
NPSH /,f 8
6 020
____________./ 4 "
2
0 0
0 1000 2000 000 4000 Q [I/min]
{ll slo 15{] 1%0 250 2%0 Q [rr: 3]
20 T I
Py N — £O/18.5
[kw] L | . .
- _é:/ 1650/15
. P —— 160 /11
0 1000 2000 3000 4000 Q [1/min]
90 i
n 160/11
7] 80
) > = "\\\\ 160,/18.5
70 / Z N
/ \160/15
60
0 1000 2000 3000 4000 Q [1/min]
Rotation speed = 2900 min-1
Test standard : ISO 9906 Annex A
229
EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S50Hz
Rev.0
3E(S) 40-200 4 POLE
40-200/0.55 (0.55 kW) - impeller diameter = 200mm
40-200/0.75 (0.75 kW) - impeller diameter = 224mm
0 USgpm. 10 15 20 25 30 35 40 45 50
I l I | I l I | I l II | I | I l I |
0 Imp.g.pm. 10 15 20 25 30 35 40
25
- 80
H _H
[m] B
20
- 60
5 EEEE N e e < 125/0.37 - 50
— _“"--...____h
T T —— =1 125/0.55 T~ -
10 T—
= NPSH [~ 30
[m] [#]
2020
5 54 .
i
NPSH itk
=
0 0]
0 75 50 75 100 125 150 175 Q [I/min
[ l I I I I I I I I I I [
0 2 3 4 5 6 7 8 g 0 N0 [m¥h]
0.8 =
L 200,/0.75 |
P2 N [ I
[ew] 6 200/0.55 ]
0.4
0.2
0 75 50 75 100 125 150 175 Q [1/min]
% 1111
T'l | T I T T
%] 60 200,#}.5-'5 I
o 200/0.75 ]
20
0
0 25 50 75 100 125 150 175 Q [1/min]
Rotation speed = 1450 min-1
Test standard : ISO 9906 Annex A
235
EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S50Hz
Rev.0
3E(S) 50-125 4 POLE
50-125/0.37 (0.37 kW) - impeller diameter = 140 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
| I I I I | I I I I [ ]
0 Imp.g.p.m. 20 30 40 50 60 70 80 a0 100 110
9
27
H H
ft
[m] 75 L, L
- _2‘
T - —— Sy
]
- ;‘? 18
e 5.
M~ O-J;;
45 R“‘n —15
‘!\‘.‘-
1.‘\ |
~ MPSH 12
3 N [m] [#]
m\ —g
q 815
6|6
1.5 N L.
Al
NPSH —— —0k3
29
0
0 50 100 150 700 2511 300 350 400 450 0 [I/min]
| I I I I | | I I I I | | I I |
0 2 4 B 8 0 12 14 16 18 20 22 24 26 28 Q[mh]
0.6
Fs )
[kw] %4
I ———— 125/0.%
0.2 == /
0
0 50 100 150 200 250 300 350 400 450 0 [I/min]
a0
"l 60
(%] -] T~
40 ~~
H\.
20
125/0.3
0
0 50 100 150 200 2501 300 350 400 450 0 [I/min]
Rotation speed = 1450 min-1
Test standard : ISO 9906 Annex A
236
EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 50-200 4 POLE

50-200/0.75 (0.75 kW) - impeller diameter = 183 mm
50-200/1.1 ( 1.1 kW) -impeller diameter = 200 mm
50-200/1.5 ( 1.5 kW) -impeller diameter = 224 mm

0 USgpm 20 30 40 50 B0 70 &0 0 100 110 120 130

0 Imp.g.p.m. 20 30 40 50 50 70 80 a0 100 10
8
b 54
H = — H
T 5 fit
[m] 15 =] 200, g L
—~f .
T
I s e e T - - &
12 E——— S
e - P
B Py
o QU/."_" L 35
N i
e I"""'-l-u..,.__
I —— -~ - —
9 <= 200,47 — 30
T~ wpsH |2
™ [m] [f]
° N 18
81
12
3 (s
L NPSH | pobs
e 2__ .
0
0 50 100 150 200 250 300 350 400 450 Q [I/min]

I I ]
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m¥M]

1.5 —1] | 200/1.5
P2 = 1 |;{|
w1 = o= 200/1.1
" SRR EEE s -
0.5 - 200,/0.75 7]
0 | ! HEE
0 50 100 150 200 250 300 350 400 450 0 [I/min]
80 —_
| || 230},’] |
" s e
K —— —— 200/1.5
o '___...--'""- [ |
40 — 200/0.75 7]
20
a
0 50 100 150 200 250 300 350 400 450 G [1/min]

Rotation speed = 1450 min-1
Test standard : ISO 9906 Annex A

238
% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S50Hz
Rev.0
3E(S) 65-160 4 POLE
65-160/0.75 (0.75 kW) - impeller diameter = 154 mm
65-160/1.1 ( 1.1 kW) -impeller diameter = 166 mm
0 Usgpm. 40 60 a0 100 120 140 160 180 200
| | | | | | | | | | |
I I I l l I I I I
0 Imp.g.p.m. 40 60 80 100 120 140 160
15
|- 45
H H
[m] 125 4 [ft]
- 35
10
— - - I . 50
7.5 === == . — 25
— —
"-l-n...,_._-‘ "‘!.-_‘- FS'I,
TS L 7
~_ 5. IS .
R ~ [m] [FI[12
o o 7
S~ . T2
2.5 ""ll.'-. 3 i
NPSH . T3 t+w0Es
5
0 0
0 100 200 300 400 500 600 700 Q [I/min]
[ I I l I I l I I I l I ]
0 4 B 12 16 20 24 28 32 36 40 44 G [mah]
1.0 —1 160 /1.1
Pz 08 = I1E:-I”I"‘?5/
[kW] 0.6 L =" 0/0.
0.4 =
0.2
0
0 100 200 300 400 500 600 700 Q [1/min]
BO
T 70 —
[%] B0 — — [ r— H‘: -
= ~ | ]
20 ..\ '\\
\‘\; \"\ 1 50;"(]
0 160,/0.75 [ NN
._E'D 1 1 1 1 \ N
0 100 200 300 400 500 600 700 a [1,/min]
Rotation speed = 1450 min-1
Test standard : ISO 9906 Annex A
241
EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 80-200 4 POLE

80-200/2.2 (2.2 kW) - impeller diameter = 201 mm
80-200/3.0 (3.0 kW) - impeller diameter = 212 mm

0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| | I T I 1 T
- 0 Impgpm. 50 100 150 200 250 300
50
H H
[m] (7]
=T 1 — 50
f— — N E— —— -‘.-‘-""I-..
——] -‘h-‘-""-..
T — —
~— .iff/g_o - 40
~— T
T~ T~
10 <0 )
0.
722 TN \‘\ 30
\:\
N NPSH
[m] [it]
— 20
B
110
el
NPSH —— —10
s 2__ 4
0
0 200 400 600 800 1000 1200 0 [I/min]
| | | 1 | | | T )
y 0 20 i 40 50 &0 70 @ [m=/h]
3 T
P, ——— 200/3.0 —
(kW] ) T | —+ 200/2.2
_..--""""i-"""-—--—‘
gy
1
0 200 400 BOD BOO 1000 1200 0 [I/min]
80
n
7 70 — L
(7] ~
o L
60 P — L g
200/2.2 ™ 200/3.0
. || N |
0 200 400 600 800 1000 1200 0 [I/min]
Rotation speed = 1450 min-1
Test standard : ISO 9906 Annex A
245

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.0
3E(S) 100-160 4 POLE

100-160/1.5 (1.5 kW) - impeller diameter = 156 mm
100-160/2.2 (2.2 kW) - impeller diameter = 174 mm

0 US.gpm. 100 200 300 400 500 B0 700
I I I I [ I [ I I I I I [
0 Imp.gpm. 100 200 300 400 500 BO0
10
e,
™ - — 4
H B e T N :f‘?/g _ = A0 H
[m] ~ [ft]
8 \“‘a
P \\ 25
~ N
—
"'lq.“ \1
™, \‘
\ N NFSH
[m] [it]
10— —13
0
4 815
§—— 10
4 1310
NPSH | L geet—r—T" 1 , "
2
0 50 700 1050 1400 1750 2100 Q {1 /min]
[ I [ [ [ [ [ I [
0 20 40) B0 80 100 120 40 0 [m/h]
3
. [T ]
z 2 160,/2.2
kv L
[ki] e — 180/1.5
0
0 350 700 1050 1400 1750 2100 O [1/min]
90
n /,..—-"__'__..-—-' T ""-l-“..__‘
%) 70 160 /1.¢ S ~
(7] "::?.-'" 60/1.5 ~160,/2.2
P
50
30
0 350 700 1050 1400 1750 2100 @ [1,fmin]
Rotation speed = 1450 min-1
Test standard : ISO 9906 Annex A
247
% Em EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz

Rev.0
SECTIONAL VIEW DRAWING 3E 32-125,40-160,50-100/125/160,65-100,80-100

301

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION

50Hz

Rev.0

SECTIONAL VIEW TABLE 3E 32-125,40-160,50-100/125/160,65-100,80-100

No PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket [1] - 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 |Shaft with rotor - Wet extension EN 1.4301 (AISI 304) 1
7 [Impeller EN 1.4301 (AISI 304) 1
10 |Baffle [2[ EN 1.4301 (AISI 304) 1
11 |Mechanical seal [3] 1
12 [Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal - 1
17 |Terminal box cover Aluminium (three phase version) 1
0.37 kW to 0.75 kW 25x14.5x2.5

18 |Splash ring Up to11kW 40x21.5x2 EBARA DRAWING 1
15 kW and above 50x29.5x3

19 [Bearing [5] . 1

20 |Bearing [5] . 1

21 |Adjusting ring Steel C70 1
Up to 3 kW M5

2 Tie rod For 4 to 7.5 kW Fe 42 Galvanized M6 EBARA DRAWING 4
9.2 kW to 11kW M8

Screw 15 kW and above Gv. Steel 8.8 strength class ISO 898-1 M10x40 UNI 5739

24 |Plug Brass Gl/4 2

25 |Drain plug Brass Gl/4 4
32-125,50-100,50-125,

26 |O-ring 65-100.80-100,40-160/1.1 EPDM [4] 158.11x5.34 OR 6625 1
40-160, 50-160, 183.52x5.34 OR 6720
32-125,50-100

y ! A 4x4x14
65-100/0.55,65-100/0.75

32 |Key 40-160,50-125,50-160, EN 1.4401 (AISI 316) A oxOxl UNI 6604 1
65-100/1.1,65-100/1.5,80-100
32-125,50-100

) ) M10x1.25
65-100/0.55,65-100/0.75

34 |Impeller nut 40-160,50-125,50-160, EN 1.4301 (AISI 304) onLE UNI 7474 1
65-100/1.1,65-100/1.5,80-100 )

56 |Box gasket NBR 1

58 |Cable gland - 1
32-125,50-100,65-100 15x30x5

92 |Lip seal Up to 3kW 25x40x7 DIN 3760 without spring| 1
From 4 to 7.5 kW 30x47X7
32-125,50-100

’ . 15x30x5
. 65-100/0.55, 65-100/0.75 . )

93 |Lip seal 40-160,50-125,80-100 T7x32x6 DIN 3760 without spring| 1
Up to 4 kW 25x40x7
32-125,50-100,
65-100/0.55, 65-100/0.75 M6x25 o

200 [Screw 65-100/1.1,65-100/1.5 Guv. Steel 8.8 strength class ISO 898-1 M 6x30 UNI 5739
50-125,80-100 M 8x30
40-160,50-160 M10x35 10
32-125,50-100,65-100 8.4x17 8

235|Washer 50-125,80-100 Galvanized Steel ) UNI 6592
40-160,50-160 10.5x21 10

[1] Cast iron EN-GJL-200-EN 1561 for models with 15,18.5, 22 kW motor

Aluminum AL-EN-1706-AC-46000-D for all the others;

[2] EN1.4301(AISI 304) for 32-125,40-160,50-100/125/160

CF8 for 65-100,80-100

[3] See MECHANICAL SEAL pages from 337 to 339
[4] FPM for Q1AVGG,Q4Q1VGG

EPDM for QLAEGG,Q4Q1EGG
[5] See BEARING Pages from 333 to 336

302

e EBARA

E BARA CORPORATION




IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz

Rev.0

SECTIONAL VIEW DRAWING 3E 40-200

303

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.0
SECTIONAL VIEW TABLE 3E 40-200

No PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor Bracket [1] - 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 |Shaft with rotor - Wet extension EN 1.4301 (AISI 304) 1
7 |Impeller EN 1.4301 (AISI 304) 1
11 |Mechanical seal [2] - 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal - 1
17 |Terminal box cover Aluminium (three phase version) 1
18 |Splash ring 40x21.5x2 EBARA DRAWING 1
19 |Bearing [4] . 1
20 |Bearing [4] . 1
21 |Adjusting ring Steel C70 1
22 [Tie rod ggrtz 35"\9’ T Fe 42 Galvanized mg EBARA DRAWING | 4
24 |Plug Brass Gl/4 2
25 |Drain plug Brass Gl/4 4
26 |O-ring EPDM [3] 227.96x5.34 OR 6895 1
32 [Key EN 1.4401 (AISI 316) A 6x6x25 UNI 6604 1
34 |Impeller nut EN 1.4301 (AISI 304) M16x1.5 UNI 7474 1
56 |Box gasket NBR 1
58 |Cable gland - 1
72 |Casing ring EN 1.4301 (AISI 304) 1

. Up to 3kW 25x40x7 ) )
92 |Lip seal FrF:)m 410 7.5KW _ 30xA7X7 DIN 3760 without spring| 1
Up to 4 kW 25x40x7

93 |Lip seal E\r/\(/)m 5.5kWto 7.5 30x47XT DIN 3760 without spring| 1
200 |Screw Gv. Steel 8.8 strength class 1ISO 898-1 M10x35 12
235|Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] Cast iron EN-GJL-200-EN 1561 for models with 15,18.5, 22 kW motor

Aluminum AL-EN-1706-AC-46000-D for all the others;
[2] See MECHANICAL SEAL pages from 337 to 339
[3] FPM for Q1AVGG,Q4Q1VGG
EPDM for QLAEGG,Q4Q1EGG
[4] See BEARINGS pages from 333 to 336
304

e EBARA

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.0

SECTIONAL VIEW DRAWING 3E 50-200,65-200,80-160/200,100-160

")

=) N
S "\".
1]

305
% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.0
SECTIONAL VIEW TABLE 3E 50-200,65-200,80-160/200,100-160
No PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket [1] - 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 |Shaft with rotor - Wet extension EN 1.4301 (AISI 304) [9] 1
7 |Impeller 2] EN 1.4301 (AISI 304) 1
11 |Mechanical seal [3] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal - 1
17 |Terminal box cover Aluminium (three phase version) 1
0.37 kW to 0.75 kW 25x14.5x2.5
18 |Splash ring Up tol1kwW 40x21.5x2 EBARA DRAWING 1
15 kW and above 50x29.5x3
19 |Bearing [8] . 1
20 |Bearing [8] . 1
21 |Adjusting ring Steel C70 1
5 [Tie rod Eg; g_'ZSt(')Sl'lT('\?VkW Fe 42 Galvanized mg EBARADRAWING |
Screw 15kW and above Gv. Steel 8.8 strength class ISO 898-1 M10x40 UNI 5739
24 |Plug Brass Gl/4 2
50-200 4
25 |Drain plug 65-200,80-160,80-200, Brass Gl/4 2
100-160
26 |O-ring EPDM [4] 227.96x5.34 OR 6895 1
50-200,65-200, A 6x6x25
32 |Key 80-160/9.2,80-160/11 EN 1.4401 (AISI 316) UNI 6604 1
80-160/15,80-200,100-160 A 8x7x30
50-200,65-200, EN 1.4301 (AISI 304) M16x1.5
34 (Impeller nut 80-160/9.2,80-160/11 UNI 7474 1
65-200/11 M18x1.5
80-160/15,80-200,100-160 M20x1.5
56 |Box gasket NBR 1
58 |Cable gland - [5]
72 |Casing ring EN 1.4301 (AISI 304) 1
From 5.5 kW to 7.5 kW 30x47X7
92 |Lip seal From 9.2 to 11 40x55x7 DIN 3760 without spring| 1
From 15kW to 22kW 45x60x7
From 5.5 kW to 7.5 kW 30x47X7
93 |Lip seal From 9.2 to 11 40x55x7 DIN 3760 without spring| 1
From 15kW to 22kW 45x60x7
101|Snap Ring [6] Carbon tool steels TC 80 @40 UNI 7435 1
50-200,65-200,80-160,80-200 12
200 |Screw 100-160 Gv. Steel 8.8 strength class 1ISO 898-1 M10x35 10
235|Washer Galvanized Steel 10.5x21x2 UNI 6592 12
206 [57?9‘” for Bracket (15kw and above) Gv. Steel 8.8 strength class ISO 898-1|  M10x40 UNI 5739 4

[1] Cast iron EN-GJL-200-EN 1561 for 3D 32-200/3 and models with 15,18.5, 22 kW motor
Aluminum AL-EN-1706-AC-46000-D for all the others;
[2] EN 1.4301 (AlISI 304) for 50,65
EN 1.4401(AlSI 316) for 80,100series(except 80-100)
[3] See MECHANICAL SEAL pages from 337 to 339
[4] FPM for Q1AVGG,Q4Q1VGG
EPDM for QLAEGG,Q4Q1EGG
[5] 1 for pumps with motor up to 11 kW
2 for pumps with 15 kW motor and above
[6] Only for pumps with 9.2 and 11 kW motor
[7] Only for pumps with 15 kW motor and above
[8] See 3D BEARINGS pages from 333 to 336
[9] EN1.4404(AISI316L) for 100-160

306

e EBARA

E BARA CORPORATION




IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.0
SECTIONAL VIEW DRAWING 3ES32-125,40-160,50-100/125/160,65-100,80-100

NVanWac ]
N O

||
/—-L/——\ 4 1 U

307

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION

50Hz

Rev.0

SECTIONAL VIEW TABLE 3ES32-125,40-160,50-100/125/160,65-100,80-100

No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-200-EN 1561 1
3 |Motor bracket [1] Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 |Coupling - Wet extensions [4] EN 1.4301 (AISI 304) 1
7 [Impeller EN 1.4301 (AISI 304) [5] 1
10 |Baffle EN 1.4301 (AISI 304) 1
11 |Mechanical seal [2] - 1
12 |Motor 1
24 |Priming plug Brass G1/4 2
25 |Draining plug Brass Gl/4 4
. 32-125,50-100,50-125,
26 |O-ring 65-100,80-100 EPDM [3] 158.11x5.34 OR 6625 1
40-160,50-160 183.52x5.34 OR 6720
32 [Key EN 1.4401 (AISI 316) 6x6x18 UNI 6604 1
34 |Impeller nut EN 1.4301 (AISI 304) M16x1.5 UNI 7474 1
44 |Protection EN 1.4301 (AISI 304) EBARA DRAWING | 1
32-125,50-100,
65-100/0.55,65-100/0.75 M6x25 o
200|Screw 65-100/1.1,65-100/1.5 | Gv. Steel 8.8 strength class SO 898-1 M6x30 UNI 5739
50-125,80-100 M8x30
40-160, 50-160, M 10x35 10
0.75kW to 2.2kW M10x25
206 |Screw for bracket 3KW t0 2KW Gv. Steel 8.8 strength class ISO 898-1 M12x30 UNI 5739 4
32-125,50-100,50-125, 8.4x17 8
235|Washer 65-100,80-100 Galvanized Steel ) UNI 6592
40-160,50-160 10.5x21 10
[1] Cast iron EN-GJL-200-EN 1561 for motor of 0.75kW
Aluminum AL-EN-1706-AC-46000-D for motor of 1.1 to 4kW
[2] See MECHANICAL SEAL pages from 337 to 339
[3] FPM for Q1AVGG,Q4Q1VGG
EPDM for Q1AEGG,Q4Q1EGG
[4] See 3ES COUPLING page
[5] CF8 impeller for 65-100 and 80-100

e EBARA

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E
CONSTRUCTION 50Hz

Rev.0
SECTIONAL VIEW DRAWING 3ES 40-200

|
| 38
o |
| ) T ! l';
|
|
|
[ []
|
[
— L
| Tﬁ’ 206-2
% H e 200
(MEY TIiH— 235
—~ 25
i
309
EBARA CORPORATION
e EBARA



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION S0Hz
Rev.0
SECTIONAL VIEW TABLE 3ES 40-200
No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-200-EN 1561 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 Ei(])upllng - Wet extensions EN 1.4301 (AISI 304) 1
Impeller
7 - 1
1]
Mechanical seal
11 - 1
[2]
12 |Motor 1
24 |Priming plug Brass G1/4 2
25 |Draining plug Brass G1/4 4
26 |O-ring EPDM [3] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
34 |Impeller nut EN 1.4301 (AISI 304) M16x1.5 UNI 7474 1
44 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 1
72 |Casing ring EN 1.4301 (AISI 304) 1
200|Screw Gv. Steel 8.8 strength class ISO 898-1| M 10x35 12
206 |Screw for bracket Gv. Steel 8.8 strength class ISO 898-1 M10x40 UNI 5739 4
235|Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] EN 1.4301 (AISI 304) for 40,65 series;

EN 1.4401(AlSI 316) for 80 series

[2] See MECHANICAL SEAL pages from 337 to 339

[3] FPM for Q1AVGG,Q4Q1VGG

EPDM for QLAEGG,Q4Q1EGG

[4] See 3DS COUPLING page

310

e EBARA

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.0

SECTIONAL VIEW DRAWING 3ES 50-200,65-200,80-160/200,100-160

Im.‘
® ©
P pe————

nnpaannann

311
% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.0
SECTIONAL VIEW TABLE 3ES 50-200,65-200,80-160/200,100-160
No PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
1 |Casing Cast iron EN-GJL200-EN 1561 1
3 [Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 [%‘]’“p"”g - Wet extensions EN 1.4301 (AISI 304) [7] 1
7 |Impeller - 1
11 [Mechanical seal - 1
12 |Motor 1
24 |Priming plug Brass G1/4 2
. 50-200 4
25 |Drain plug Other models Brass Gl/4 >
26 |O-ring EPDM [3] 227.96x5.34 OR 6895 1
50-200,65-200,80-160/9.2, 6X6X25
32 |Key 80-160/11 EN 1.4401 (AISI 316) UNI 6604 1
80-160/15,80-200,100-160 8x7x30
tj']’ tol1kw M16x1.5
34 |Impeller nut 65-200/15 EN 1.4301 (AISI 304) M18x1.5 UNI 7474 1
15 kW and above M20X1.5
44 |Protection EN 1.4301 (AISI 304) EBARA 1
72 |Casing ring EN 1.4301 (AISI 304) 1
50-200,65-200,80-160, 12
200|Screw 80-200 Gv. Steel 8.8 strength class ISO 898-1 M10x35 UNI 5739
100-160 10
From 5.5kW to 9.2kW M12x30
206 |Screw for bracket |From 11kW to 18.5kW Gv. Steel 8.8 strength class ISO 898-1 M16x35 UNI 5739 4
From 22kW to 37kW M16x45
235|Washer Galvanized Steel 10.5x21 UNI 6592 12
[1] EN 1.4301 (AISI 304) for 50,65 series;
EN 1.4401(AlSI 316) for 80,100 series
[2] See MECHANICAL SEAL pages from 337 to 339
[3] FPM for Q1AVGG,Q4Q1VGG
EPDM for Q1AEGG,Q4Q1EGG
[4] Except for 100-160/11kW :M20x1.5
[5] Only for: 65-200
[6] See 3DS COUPLING page
[7] EN 1.4404 (AISI 316L) for 100 series
312

e EBARA

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E
CONSTRUCTION 50Hz

Rev.0

SECTIONAL VIEW DRAWING 3E4 50-125

313

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.0
SECTIONAL VIEW TABLE 3E4 50-125
No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250- 1
3 |Motor bracket [3] 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 |Shaft with rotor-Part in contact with EN 1.4301 (AISI 304) 1
7 [Impeller EN 1.4301 (AISI 304) 1
10 |Baffle EN 1.4301 (AISI 304) 1
11 |Mechanical seal SiC/met.Carbon/EPDM 1
12 [Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal 1
17 |Terminal box cover Aluminium (three phase version) 1
18 |Splash ring NBR 40x21.5x2 EBARA DRAWING| 1
19 [Bearing See table p.319 1
20 |Bearing See table p.319 1
21 |Adjusting ring Steel C70 1
22 |Tie rod Fe 42 Galvanized M5 EBARA DRAWING| 4
24 |Plug Brass G1/4 DIN 906 2
25 |Drain plug Brass Gl/4 DIN 906 4
26 [“O”ring EPDM [2] 158.11x5.34 OR 6625 1
32 |Key EN 1.4401 (AISI 316) 6x6x18 UNI 6604 1
34 |Impeller nut EN 1.4301 (AISI 304) M16x1.5 UNI 7474 1
56 |Box gasket NBR 1
58 |Fasting nut 1
92 |Lip seal Upto 1.5kw - 25x40x7 DIN 3YGQ 1
From 2.2kW to 3kW - 30x47X7 without spring
For 0.25kW 15x30x5
93 |Lip seal For 0.37kW and 0.55kW ] 17x32X7 witl?1l<3'\tljt337§r(i)ng 1
From 0.75 kW to 3kW 25x40x7
200 |Screw Gv. Steel 8.8 strength class ISO 898/1 M8x30 UNI 5739 8
235 |Washer Galvanized Steel 8.4x17 UNI 6592 8
[1] Special version : see mechanical seal pages from 337 to 339
[2] FPM for Q1AVGG,Q4Q1VGG
EPDM for QLAEGG, Q4Q1EGG
[3] Cast iron EN-GJL-200-EN 1561 for models with 15,18.5, 22 kW motor
Aluminium AL-EN-1706-AC-46000-D for all others
314

e EBARA

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

CONSTRUCTION 50Hz
Rev.0
SECTIONAL VIEW DRAWING 3E4 100-160
56 16 17 58
|\'\ l' || ,)
\ "‘-., ] //
____“‘I. o - 19
il
I e ——— 92
& _
315
EBARA CORPORATION

e EBARA



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION S50Hz
Rev.0

SECTIONAL VIEW TABLE 3E4 100-160

No PART NAME | MATERIAL DIMENSIONS STANDARD QTY
1 |[Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4404 (AISI316L) 1
6 |Shaft with rotor EN 1.4404 (AISI 316L) -Part in contact with liquid 1
7 |Impeller EN 1.4401 (AISI 316) 1
10 |Baffle EN 1.4301 (AISI 304) 1
11 |Mechanical seal [1] SiC/met.Carbon/EPDM 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal - 1
17 |Terminal box cover Aluminium 1
19 |Bearing - 1
20 [Bearing - 1
21 |Adjusting ring Steel C70 1
22 |Tie rod Fe 42 Galvanized 4
24 |Plug Brass G1/4 EPE DRAWING 2
25 |Drain Plug Brass G1/4 EPE DRAWING 2
26 [“O” ring EPDM[2] 227.96x5.34 OR 6895 1
32 [Key EN 1.4404 (AISI 316L) 6x6x18 UNI 6604 1
34 |Impeller nut EN 1.4404 (AISI 316L) M16X1.5 UNI 7474 1
56 |Box gasket NBR 1
58 |Fasting nut - 1
. 1.5 kW 25x40x7
92 pr seal 2.2 kW 30x47x7 Wit?\'o'\l'fzgﬁng L
93 |Lip seal - 25x40x7 1
200 [Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12
235 |Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] Special version: see mechanical seal pages from 337 to 339
[2] FPM for Q1AVGG,Q4Q1VGG
EPDM for Q1AEGG, Q4Q1EGG

316

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz

Rev.0

SECTIONAL VIEW DRAWING 3E4 40-200, 65-160

317

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.0
SECTIONAL VIEW TABLE 3E4 40-200, 65-160
No PART NAME | MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 [Motor bracket [4] 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 [Shaft with rotor-Part in contact with EN 1.4301 (AISI 304) 1
7 [Impeller EN 1.4301 (AISI 304) 1
11 |Mechanical seal SiC/met.Carbon/EPDM 1
12 [Motor frame with stator - 1
13 |Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal 1
17 |Terminal box cover Aluminium (three phase version) 1
18 |Splash ring NBR 40x21.5x2 EBARA DRAWIN 1
19 [Bearing See table 1
20 |Bearing See table 1
21 |Adjusting ring Steel C70 1
22 |Tie rod Fe 42 Galvanized M5 EBARA 4
24 |Plug Brass G1/4 DIN 906 2
25 |Drain plug Brass G1/4 DIN 906 4
26 |Oring EPDM [3] 227.96x5.34 OR 6895 1
32 [Key EN 1.4401 (AISI 316) 6x6X25 UNI 6604 1
34 |Impeller nut EN 1.4301 (AISI 304) M16x1.5 UNI 7474 1
56 |Box gasket NBR 1
58 |Fasting nut 1
72 [Ciz]:lsmg ring (not for 80 version) EN 1.4301 (AISI 304) 1
92 |Lib seal Upto 1.5kwW ) 25x40x7 DIN 3760 1
P From 2.2kW to 3kW 30x47X7 without spring
For 0.25kW 15x30x5
93 |Lip seal For 0.37kW and 0.55kW ] 17x32X7 it 3780 1
From 0.75 kW to 3kW 25x40x7 pring

200|Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12

235|Washer Galvanized Steel 8.4x17 UNI 6592 12

[1] For Version 32-200,40-200,50-200,65-160,65-200

[2] Special version: see mechanical seal pages from 337 to 339

[3] FPM for Q1AVGG,Q4Q1VGG

EPDM for Q1AEGG, Q4Q1EGG
[4] Cast iron EN-GJL-200-EN 1561 for models with 15,18.5, 22 kW motor
Aluminum AL-EN-1706-AC-46000-D for all the others

e EBARA

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz

Rev.0

SECTIONAL VIEW DRAWING 3E4 50-200, 80-200

319
% E2ARA EBARA corroration




PM10U

3E

CONSTRUCTION 50Hz
Rev.0
SECTIONAL VIEW TABLE 3E4 50-200, 80-200
No PART NAME | MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 [Motor bracket [4] 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 [Shaft with rotor-Part in contact with EN 1.4301 (AISI 304) 1
7 [Impeller EN 1.4301 (AISI 304) 1
11 |Mechanical seal [2] SiC/met.Carbon/EPDM 1
12 |Motor frame with stator - 1
13 [Motor cover Aluminium 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 |Terminal 1
17 |Terminal box cover Aluminium (three phase version) 1
18 |Splash ring NBR 40x21.5x2 EBARA DRAWING 1
19 [Bearing See table 1
20 |Bearing See table 1
21 |Adjusting ring Steel C70 1
22 |Tie rod Fe 42 Galvanized M5 EBARA DRAWING 4
24 |Plug Brass G 1/4 DIN 906 2
. 50-200 Brass 4
25 |Drain plug 80200 G 1/4 DIN 906 >
26 [“O”ring EPDM [3] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
34 |Impeller nut EN 1.4301 (AISI 304) M16x1.5 UNI 7474 1
56 |Box gasket NBR 1
58 |Fasting nut 1
72 [(ﬁlsmg ring (not for 80 version) EN 1.4301 (AISI 304) 1
. Upto 1.5kW 25x40x7 DIN 3760
92 |Lip seal From 2.2kW to 3kW ) 30x47X7 without spring L
For 0.25kW 15x30x5
93 |Lip seal For 0.37kW and 0.55kW - 17x32X7 ity 3780 1
From 0.75 KW to 3kW 25x40x7 pring

200|Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12

235|Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] For Version 32-200,40-200,50-200,65-160,65-200

[2] Special version : see mechanical seal pages from 337 to 339

[3] FPM for Q1AVGG,Q4Q1VGG

EPDM for QLAEGG, Q4Q1EGG
[4] Cast iron EN-GJL-200-EN 1561 for models with 15,18.5, 22 kW motor
Aluminum AL-EN-1706-AC-46000-D for all the others

e EBARA

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E
CONSTRUCTION 50Hz

Rev.0

SECTIONAL VIEW DRAWING 3ES4 100-160

325

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE 3ES4 100-160

Rev.0

No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4404 (AISI 316L) 1
6 |Coupling EN 1.4404 (AISI 316L) 1
7 [Impeller EN 1.4401 (AISI 316) 1
10 |Baffle EN 1.4301 (AISI 304) 1
11 ['\ﬁ”ha”'ca' sea SiC/met.Carbon/EPDM 1
12 |Motor - 1
24 |Plug Brass Gl/4 EPE DRAWING 2
25 |Drain Plug Brass G1/4 EPE DRAWING 2
26 [“O”ring EPDM (E option) [2] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI 316) 6x6x18 UNI 6604 1
34 |Impeller nut EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
44 |Protection EN 1.4301 (AISI 304) EPE DRAWING 2
200|Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12
235|Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] Special version : see mechanical seal pages from 337 to 339

[2] FPM for Q1AVGG,Q4Q1VGG

EPDM for Q1AEGG, Q4Q1EGG

326

e EBARA

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E
CONSTRUCTION 50Hz

Rev.0
SECTIONAL VIEW DRAWING 3ES4 40-200,65-160

|
| 58
| ) '.
| ) T ! l';
|
|
|
[ 1]
|
|
— L
206-2
— 200

=]

YUUUUU

327
% E2ARA EBARA corroration




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE 3ES4 40-200,65-160

Rev.0

No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |[Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN1.4301 (AISI 304) 1
6 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) 1
7 |impeller EN 1.4301 (AISI 304) 1
11 [Mechanical seal [2] SiC/met.Carbon/EPDM 1
12 |Motor 1
24 |Plug Brass G1/4 DIN 906 2
25 |Drain plug Brass G1/4 DIN 906 4
26 |O-ring EPDM [3] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
34 |impeller nut EN 1.4301 (AISI 304) M16x1.5 UNI 7474 1
44 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 2
72 |Casing ring EN 1.4301 (AISI 304) 1
200 |Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12
206 |Screw ;g)rnz]gzi;%iv?/kw Gv. Steel 8.8 strength class ISO 898/1 m%ggg UNI 5739 4
235|Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] Special version: see mechanical seal pages from 337 to 339

[2] FPM for Q1AVGG,Q4Q1VGG
EPDM for Q1AEGG, Q4Q1EGG

328

e EBARA

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz

Rev.0
SECTIONAL VIEW DRAWING 3ES4 50-200, 80-200

Im.‘
Py P

nnpaannann

329

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.0
SECTIONAL VIEW TABLE 3ES4 50-200, 80-200

No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 [Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) 1
7 limoeller 50-200 EN 1.4301 (AISI 304) 1

P 80-200 EN 1.4401 (AISI 316)

11 [Mechanical seal [2] SiC/met.Carbon/EPDM 1
12 |Motor 1
24 |Plug Brass G1/4 DIN 906 2
25 |Drain plug Brass G1/4 DIN 906 4
26 |O-ring EPDM [3] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI 316) 6X6x25 UNI 6604 1
34 |impeller nut EN 1.4301 (AISI 304) M16x1.5 UNI 7474 1
44 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 2
72 [Ciz]:lsmg ring (not for 80 version) EN 1.4301 (AISI 304) 1

50-200,80-200/2.2 12
200|Screw 80-200/3 Gv. Steel 8.8 strength class 1ISO 898/1 M10x35 UNI 5739 10
from 0.55 to 1.5kW M10x25

206 |Screw for 2.2 and 3kW Gv. Steel 8.8 strength class ISO 898/1 M12x30 UNI 5739 4
235|Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] Only for version 32-200, 40-200,50-200, 65-160, 65-200

[2] Special version: see mechanical seal pages from 337 to 339

[3] FPM for Q1AVGG,Q4Q1VGG

EPDM for Q1AEGG, Q4Q1EGG

% E2ARA EBARA corroration



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.0
BEARINGS 3E 2POLE
Ball bearing
Pump type Pump side Fan side

3E 32-125/0.37

3E 39.195/0 55 6203 2RSH 6202 2RSH

3E 32-125/0.75 6203-ZZ C3 6202-ZZ C3

3E 40-160/1.1

3E 20-160/L5 6205-ZZ C3 6203-ZZ C3

3E 40-160/2.2 E2 6205-ZZ C3 E2 6203-ZZ C3

3E 40-200/3.0 6205-ZZ C3

3E 40-200/4.0 6206-ZZ C3 6205-22 C3

3E 40-200/7.5 6306-ZZ C3 6206-ZZ C3

3E 50-100/0.37

3E 50-100/0.55 6203 2RSH 6202 2RSH

3E 50-100/0.75 6203-ZZ C3 6202-ZZ C3

3E 50-125/1.5 6205-ZZ C3 6203-ZZ C3

3E 50-125/2.2 E2 6205-ZZ C3 E2 6203-ZZ C3

3E 50-160/3.0 6205-ZZ C3

3E 50-160/4.0 6206-ZZ C3 6205-22 C3

3E 50-200/5.5

3E 5020075 6306-ZZ C3 6206-ZZ C3

3E 50-200/11 6308-ZZ C3 6208-7Z C3

3E 65-100/0.55 6203 2RSH 6202 2RSH

3E 65-100/0.75 6203-ZZ C3 6202-ZZ C3

3E 65-100/1.1

3E 65-100/L5 6205-ZZ C3 6203-2Z C3

3E 65-200/9.2

3E 65-200/11 6308-ZZ C3 6208-2Z C3

3E 65-200/15 6309-ZZ C3 6309-ZZ C3

3E 80-100/1.5 6205-ZZ C3 6203-ZZ C3

3E 80-100/2.2 E2 6205-ZZ C3 E2 6203-ZZ C3

3E 80-160/9.2

3E 80-160/11 6308-ZZ C3 6208-ZZ C3

3E 80-160/15

3E 80-200/18.5 6309-ZZ C3 6309-ZZ C3

3E 80-200/22

3E 100-160/11 6308-ZZ C3 6208-ZZ C3

3E 100-160/15

3E 100-160/185 6309-ZZ C3 6309-7Z C3
333

EBARA CORPORATION

e EBARA



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.0
BEARINGS 3E 4POLE
Ball bearing
Pump type Pump side Fan side
3E4 40-200/0.55 6205-2RSH C3 6203-2RSH
3E4 40-200/0.75 6205 ZZ C3 6205 ZZ C3
3E4 50-125/0.37 6205-2RSH C3 6202-2RSH
3E4 50-200/1.1
3E4 50-200/1.5 6205-ZZ C3 6205-ZZ C3
3E4 65-160/0.75 6205 ZZ C3 6205 ZZ C3
3E4 65-160/1.1 6205-ZZ C3 6205-ZZ C3
3E4 80-200/2.2
3E4 80-200/3.0 6206-ZZ C3 6205-ZZ C3
3E4 100-160/1.5 6205-ZZ C3
3E4 100-160/2.2 6206-ZZ C3 6205-22 C3
334
EBARA CORPORATION

e EBARA



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION S0Hz
Rev.0
BEARINGS 3ES 2POLE
Ball bearing
Pump type Pump side Fan side
3ES 32-125/0.75 6204-2Z C3 6203-2Z C3
3ES 40-160/1.5
3ES 40-160/2.2 6205-2Z C3 6205-2Z C3
3ES 40-200/3.0 6206-2Z C3 6206-2Z C3
3ES 40-200/4.0 6306-2Z C3 6306-2Z C3
3ES 40-200/7.5 6208-2Z C3 6208-2Z C3
3ES 50-100/0.75 6204-2Z C3 6203-2Z C3
3ES 50-125/1.5
3ES 50-125/2.2 6205-2Z C3 6205-2Z C3
3ES 50-160/3.0 6206-2Z C3 6206-2Z C3
3ES 50-160/4.0 6306-2Z C3 6306-2Z C3
3ES 50-200/5.5
3ES 50-200/7.5 6208-2Z C3 6208-2Z C3
3ES 50-200/11 6309-2Z C3 6309-2Z C3
3ES 65-100/0.75 6204-2Z C3 6203-2Z C3
3ES 65-100/1.1 6204-2Z C3 6203-2Z C3
3ES 65-100/1.5 6205-2Z C3 6205-2Z C3
3ES 65-200/9.2 6208-2Z C3 6208-2Z C3
3ES 65-200/11
3ES 65-200/15 6309-2Z C3 6309-2Z C3
3ES 80-100/1.5
3ES 80-100/2.2 6205-2Z C3 6205-2Z C3
3ES 80-160/9.2 6208-2Z C3 6208-2Z C3
3ES 80-160/11
3ES 80-160/15 6309-2Z C3 6309-2Z C3
3ES 80-200/18.5
3ES 80-200/22 6311 C3 6311 C3
3ES 100-160/11
3ES 100-160/15 6309-2Z C3 6309-2Z C3
3ES 100-160/18.5
335
EBARA CORPORATION

e EBARA



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.0
BEARINGS 3ES 4POLE
Ball bearing
Pump type Pump side Fan side
3ES4 40-200/0.55
3ESZ 40-200/0 75 6204-2Z C3 6204-2Z C3
3ES4 50-200/0.75 6204-2Z C3 6204-2Z C3
3ES4 50-200/1.1
3ES4 50-200/15 6205-2Z C3 6205-2Z C3
3ES4 65-160/0.75 6204-2Z C3 6204-2Z C3
3ES4 65-160/1.1 6205-2Z C3 6205-2Z C3
3ES4 80-200/2.2
3ES4 80-200/3 0 6206-2Z C3 6206-2Z C3
3ES4 100-160/1.5 6205-2Z C3 6205-2Z C3
3ES4 100-160/2.2 6206-2Z C3 6206-2Z C3
336
EBARA CORPORATION

e EBARA



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E
CONSTRUCTION 50Hz

Rev.0
MECHANICAL SEAL (Standard and Special version) 3E 3ES 2 POLE

L1 L2

L R

*pmqﬂ%ﬁ N

\

#d3

— 4 3 1 2 3

#d1
pd4
#d5

8d2
N/

Dimensions [ mm ] Material

Version Pump type 1 .2 3 4
dl | d2 | d3 | d4 | d5 L L1 | L2 Rotary Stationary Rubber Frame +

seal ring seal ring Spring

32-125
50-100 15 | 12 | 26 | 21 |269| 29 | 22 7
65-100/0.55-0.75

40-160/200

50-125/160/200
Standard | 65-100/1.1-1.5 Silicon Metallised EN 1.4401
(QLAEGG) |65-200 22| 19| 36 | 31 | 37 13751275 10 | opide | camon | EPPM | (aisi 316)
80-100

80-160/9.2-11

80-160/15
80-200 30 | 24 | 46 | 39 | 45 |425(325]| 10
100-160

32-125
50-100 15 | 12 | 26 | 21 |269| 29 | 22 7
65-100/0.55-0.75

40-160/200
50-125/160/200
Option1 | 65-100/1.1-1.5
(Q4Q1EGG) | 65-200
80-100
80-160/9.2-11

80-160/15
80-200 30 | 24 | 46 | 39 | 45 |425(325]| 10
100-160

Silicon -
22 | 10 | 36 | 31 | 37 [375|275] 10 | cabide | StcON | pgppy | EN 1.4401
graphite Carbide (AISI 316)

* The drawing is only indicative

337
% E2ARA EBARA corroration




IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.0
MECHANICAL SEAL (Standard and Special version) 3E 3ES 2 POLE

L1 [

K
| ]
‘pmg@%ﬁ/ N '

#d3

"‘\.- 43 1 53

#d1
$d4
$d5

pd2
o

Dimensions [ mm ] Material

Version Pump type 1 _2 3 4
dl | d2 | d3 | d4 | d5 L L1 | L2 Rotary Stationary Rubber Frame +

seal ring seal ring Spring

32-125
50-100 15 | 12 | 26 | 21 |269| 29 | 22 7
65-100/0.55-0.75

40-160/200
50-125/160/200
Option 2 | 65-100/1.1-1.5
(Q4Q1VGG) | 65-200
80-100
80-160/9.2-11

80-160/15
80-200 30 | 24 | 46 | 39 | 45 |425(325]| 10
100-160

32-125
50-100 15 | 12 | 26 | 21 |269| 29 | 22 7
65-100/0.55-0.75

40-160/200
50-125/160/200
Option 3 | 65-100/1.1-1.5 Silicon Carbon EN 1.4401
(QIAVGG) |65-200 22| 19186 | 31| 37 |37.512751 10 | coride | (Metal) FPM | (AIsi 316)
80-100

80-160/9.2-11

80-160/15
80-200 30 | 24 | 46 | 39 | 45 |425(325]| 10
100-160

Silicon -
22 | 10 | 36 | 31 | 37 |37.5|275] 10 | carbide | Sticon Fpv | EN 14401
graphite Carbide (AISI 316)

* The drawing is only indicative

338

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION

50Hz

Rev.0

MECHANICAL SEAL (Standard and Special version) 3E 3ES 4 POLE

L
L1 L2
1
B
L _
i oy -
\ )QQQI%%@E? N
I B \\ . ‘/ tt "‘. \
- \/ | \ \
o V \ \ \
=
S 8|
8 P/
~4%"\
| T
BG5S
.,
-
Dimensions [ mm ] Material
Version Pump type 1 .2 3 4
dl | d2 | d3 | d4 | d5 L L1 | L2 Rotary Stationary Frame +
. h Rubber ;
sealring | sealring Spring
40-200
50-125/200 - .
Standard Silicon Metallised EN 1.4401
(QIAEGG) | o200 221 19| 36 | 31| 37 137.51275| 10 | comide | cabon | EPPM | (aisi 316)
100-160
40-200
) 50-125/200 Silicon -
Option 1 . Silicon EN 1.4401
65-160 22 19 36 31 37 |37.5|275| 10 Carbide ) EPDM
(Q4QIEGG) | o700 graphite | Carbide (AISI 316)
100-160
40-200
. 50-125/200 Silicon -
(Q?potR?GZG) 65-160 22 | 19 | 36 | 31 | 37 [37.5|27.5| 10 | Cabide | S1oo% | FpM 5’\\:51{431%
80-200 graphite
100-160
40-200
. 50-125/200 -
Option 3 Silicon Carbon EN 1.4401
(QIAVGG) |79 22119 | 36 | 311 37 13751275 10 | camide | (Metal) FPM | (aisi 316)
100-160

* The drawing is only indicative

339

e EBARA

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.0

COUPLING 3ES 2 POLE

L
—t Set serew UNI EN IS0 4029
— L1 |
< = —ﬂf{z — T ————1 8%
i}
Power Dimensions mm
Pump type Mqtor Set
[kw] | [HP] | Size d di d2 d3 M L L1 b h

screw
32-125/0.75 0.75 1 80 12 15 19 33 M10x1.25| 102.5 43 6 21.8 M6x6
40-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/4.0 4 55 | 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-100/0.75 0.8 1 80 12 15 19 33 M10x1.25| 102.5 43 6 21.8 M6x6
50-125/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-160/4.0 4 5.5 | 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-200/5.5 55 | 7.5 | 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/11 11 15 160 19 22 42 63 M16x1.5 178 114 12 45.3 M8x8
65-100/0.75 0.75 1 80 12 15 19 33 M10x1.25| 102.5 43 6 21.8 M6x6
65-100/1.1 1.1 2 80 12 15 19 33 M10x1.25| 102.5 43 6 21.8 M6x6
65-100/1.5 15 2 90 12 15 19 33 M10x1.25| 102.5 43 6 21.8 M6x6
65-200/9.2 92 | 125 ] 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-200/11 11 15 160 19 22 42 63 M16x1.5 178 114 12 45.3 M8x8
65-200/15 15 20 160 22 22 42 63 M18x1.5 209 114 12 45.3 M8x8
80-100/1.5 15 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
80-100/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
80-160/9.2 9.2 | 125 ] 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
80-160/11 11 15 160 19 22 42 63 M16x1.5 178 114 12 45.3 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8
80-200/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 184 114 14 51.8 M10x10
100-160/11 11 15 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8
100-160/15 15 20 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8
100-160/18.5 | 18.5 25 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8

342

% E2ARA EBARA corroration




PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.0

COUPLING 3ES 4 POLE

L
I Sel screw UNI EN IS0 4029

5 F—h O

Power Dimensions mm
Pump type Mqtor Set
[kW] | [HP] | Size d di d2 d3 M L L1 b h

screw
40-200/0.55 0.55 | 0.75] 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-200/0.75 0.75 1 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
50-200/0.75 0.75| 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/0.75 0.75| 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
80-200/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
80-200/3 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
100-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
100-160/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8

343

% E2ARA EBARA corroration




IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz

Rev.0
BASE PLATE

210 35

26

13-4 SLOT

®

—t
R
&

f
t‘)
v .
-
i
(+/ *
o

&)

214

430
350

400
N
<A

Standard accessory for 11kW or above models

Type Pump Models Hexagon head screws
50-200
65-200 3XM12

Type 1 100-250
80-160,80-200,80-250 4XM12
100-160,100-200

(*) Base Plate for 9.2kW or below models is not available

344

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.0
Dimension (mm)
Rated
Counter flange Pump type | Pressure Counterflange Bolt
PN) DN D D2 | E F H|H1| L1 L2 | SN | Dimension Material
T 16 32 | Rp1"1/4 {140 | 60 [100|30|18| 50 | 70 | 4
v i <
] < ‘ 32-125 16 40 [Rp1"1/2 {150 | 70 [110|32| 18| 55 | 75 | 4
Y il 40-200 M16X55
777777 ‘ - 50-125 16 50 | Rp2" |165| 84 |125|28|18| 625 | 825 | 4
o 50-160 p : :
i ‘ 65-160
f = \ ) 80-100 16 65 | Rp2"1/2 | 185|104 [ 145 (32| 18| 725 | 925 | 4
AA i 16 80 | Rp3" [200|118|160|34|20| 95 | 100 | 8 | M16X60
_ ] 16 40 [Rp1"1/2 {150 | 70 [110|32| 18| 55 | 55 | 4
i A
H ‘ i 40-160
22277 50-100
50-200 16 50 | Rp2" |165| 84 |125|28| 18| 625 | 625 | 4 | M16X55 A2-70
o |G | ek B 7‘777*7’(’ 777777 65-100 ISO 3506-1
o } N 65-200
:'.‘ ] \ |
D2 {
" 16 65 | Rp2"1/2 [ 185|104 | 145 |32 | 18| 725 | 725 | 4
AA =
Z N 16 80 | Rp3" |[200]|118|160|34|20| 100 | 100 | 8
1
80-160
_ du | - - 80-200 M16X60
100-160
? Y 16 100| Rp4" |220|140(180|40|20| 110 | 110 | 8
/./ MATERIAL : EPDM
——_
/ £ \ \\ imensions [mm]
[ \__ DN M M1
S . . el —— 32 38 82
\ / il 40 50 93
\ “\ - / 50 60 107
\ e 2
- 65 80 125
| \\' \\ 4«/ /O v
: \. = e / 80 90 140
"y // 100 115 160

E BARA CORPORATION




IN-LINE CENTRIFUGAL PUMPS

CONSTRUCTION

50Hz

DIMENSIONS & WEIGHT 3E 2 POLES

i

Rev.0

= 4 X
VW7 =l ] T -
S ;H;H;’___Hl," = _r,__,_.__
N7 B>
L = \ A |
Ll
Dimensions [ mm ]
Model @ @ @ Weight

DN p K S L1 L2 H1 H2 H3 B1 B2 B3 G | n A [ kof]
32-125/0.37 32 76 100 18 | 280 140 79 38 | 347 | 115 | 103 | 102 0 141 | 4 | 140 16.7
32-125/0.55 32 76 100 18 | 280 140 79 38 | 347 | 115 | 103 | 102 0 141 | 4 | 140 18.2
32-125/0.75 32 76 100 18 | 280 140 79 38 | 347 | 115 | 103 | 101 0 140 | 4 | 140 194
40-160/1.1 40 84 110 18 | 320 160 68 50 | 395 | 127 | 127 | 124 | 19 | 176 | 4 | 150 29.6
40-160/1.5 40 84 110 18 | 320 160 68 50 | 395 | 127 | 127 | 124 | 17 | 176 | 4 | 150 29.6
40-160/2.2 40 84 110 18 | 320 160 68 50 | 420 | 127 | 127 | 124 | 18 | 176 | 4 | 150 32.1
40-200/3.0 40 84 110 18 | 340 170 100 50 | 490 | 146 | 146 | 124 | 15 | 176 | 4 | 150 41.8
40-200/4.0 40 84 110 18 | 340 170 100 50 | 513 | 146 | 146 | 141 | 15 | 193 | 4 | 150 44.3
40-200/7.5 40 84 110 18 | 340 170 100 50 | 558 | 146 | 146 | 150 | 15 | 220 | 4 | 150 59.4
50-100/0.37 50 99 125 | 20 | 280 140 75 47 | 352 | 125 | 108 | 102 0 141 | 4 | 165 194
50-100/0.55 50 99 125 | 20 | 280 140 75 47 | 352 | 125 | 108 | 102 0 141 | 4 | 165 20.9
50-100/0.75 50 99 125 | 20 | 280 140 75 47 | 352 | 125 | 108 | 101 0 140 | 4 | 165 22.1
50-125/1.5 50 99 125 | 20 | 340 170 115 40 | 441 | 124 | 105 | 124 0 176 | 4 | 165 28.4
50-125/2.2 50 99 125 | 20 | 340 170 115 40 | 466 | 124 | 105 | 124 0 176 | 4 | 165 304
50-160/3.0 50 99 125 | 20 | 340 170 115 50 | 505 | 134 | 126 | 124 | 18 | 176 | 4 | 165 35.8
50-160/4.0 50 99 125 | 20 | 340 170 115 50 | 528 | 134 | 126 | 141 | 18 | 193 | 4 | 165 44.8
50-200/5.5 50 99 125 | 20 | 440 220 115 50 | 553 | 148 | 141 | 150 0 220 | 4| 165 79.3
50-200/7.5 50 99 125 | 20 | 440 220 115 50 | 574 | 148 | 141 | 150 0 220 | 4 | 165 56.9
50-200/11 50 99 125 | 20 | 440 170 115 50 | 609 | 148 | 141 | 178 0 259 | 4| 165 79.3
65-100/0.55 65 118 145 | 20 | 340 170 82 40 | 353 | 115 | 100 | 102 0 141 | 4 | 185 22.4
65-100/0.75 65 118 145 | 20 | 340 170 82 40 | 352 | 115 | 100 | 101 0 140 | 4 | 185 23.6
65-100/1.1 65 118 145 | 20 | 340 170 82 40 | 408 | 115 | 100 | 124 0 176 | 4 | 185 294
65-100/1.5 65 118 145 | 20 | 340 170 82 40 | 408 | 115 | 100 | 124 0 176 | 4 | 185 28.7
65-200/9.2 65 118 145 | 20 | 475 2375 125 50 | 620 | 151 | 141 | 178 0 259 | 4| 185 81.8
65-200/11 65 118 145 | 20 | 475 237.5 125 50 | 619 | 151 | 141 | 178 0 259 | 4| 185 81.8
65-200/15 65 118 145 | 20 | 475 2375 125 50 | 747 | 151 | 141 | 223 0 309 | 4| 185 123.5
80-100/1.5 80 132 160 | 22 | 360 175 97 48 | 431 | 134 | 108 | 124 0 176 | 8 | 200 34.5
80-100/2.2 80 132 160 | 22 | 360 175 97 48 | 457 | 134 | 108 | 124 0 176 | 8 | 200 36.5
80-160/9.2 80 132 160 | 22 | 440 220 115 50 | 609 | 146 | 141 | 178 0 259 | 8 | 200 86.2
80-160/11 80 132 160 | 22 | 440 220 115 50 | 609 | 146 | 141 | 178 0 259 | 8 | 200 88.6
80-160/15 80 132 160 | 22 | 440 220 115 50 | 746 | 146 | 141 | 223 0 309 | 8 | 200 130.3
80-200/18.5 80 132 160 | 22 | 500 250 115 50 | 746 | 160 | 141 | 223 0 309 | 8 | 200 148.1
80-200/22 80 132 160 | 22 | 500 250 115 50 | 746 | 160 | 141 | 223 0 309 | 8 | 200 159.9
100-160/11 100 156 180 | 24 | 550 275 140 64 | 636 | 173 | 141 | 178 0 259 | 8 | 230 98.9
100-160/15 100 156 180 | 24 | 550 275 140 64 | 786 | 173 | 141 | 223 0 309 | 8 | 230 130.0
100-160/18.5 100 156 180 | 24 | 550 275 140 64 | 786 | 173 | 141 | 223 0 309 | 8 | 230 144.2

346

PM10U

E BARA CORPORATION




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION

50Hz

DIMENSIONS & WEIGHT 3E 4 POLES

f=Hl-={H:

=t )

Rev.0

Dimensions [ mm ]

Model ) ) ) V[VE i?ht

DN p K S L1 L2 H1 | H2 | H3 B1 B2 B3 G | n A gf ]

40-200/0.55 40 84 110 18 | 340 | 170 | 100 | 50 | 412 | 146 | 146 | 119 | 15| 159 | 4 | 150 30.2
40-200/0.75 40 84 110 18 | 340 | 170 | 100 | 50 | 452 | 146 | 146 | 124 | 15| 176 | 4 | 150 33.8
50-125/0.37 50 99 125 | 20 [ 340 | 170 | 115 | 40 | 406 | 124 | 105 | 102 | O | 141 | 4 | 165 23.2
50-200/0.75 50 99 125 | 20 | 440 | 220 | 115 | 50 | 467 | 148 | 141 | 124 | O | 176 | 4 | 165 37.3
50-200/1.1 50 99 125 | 20 | 440 | 220 | 115 | 50 | 467 | 148 | 141 | 124 | O | 176 | 4 | 165 38.2
50-200/1.5 50 99 125 | 20 | 440 | 220 | 115 | 50 | 506 | 148 | 141 | 124 | O | 176 | 4 | 165 399
65-160/0.75 65 118 145 | 20 [ 360 | 180 | 105 | 50 | 457 | 141 | 141 | 124 | O | 176 | 4 | 185 375
65-160/1.1 65 118 145 | 20 | 360 | 180 | 105 | 50 | 457 | 141 | 141 | 124 | O | 176 | 4 | 185 40.3
80-200/2.2 80 132 160 | 22 | 500 | 250 | 115 | 50 | 489 | 160 | 141 | 141 | O | 193 | 8 | 200 48.3
80-200/3.0 80 132 160 | 22 | 500 | 250 | 115 | 50 | 529 | 160 | 141 | 141 | O | 193 | 8 | 200 56.3
100-160/1.5 100 156 180 | 24 [ 550 | 275 | 140 | 64 | 543 | 173 | 141 | 124 | 0 | 176 | 8 | 230 51.9
100-160/2.2 100 156 180 | 24 [ 550 | 275 | 140 | 64 | 528 | 173 | 141 | 141 | O | 193 | 8 | 230 51.9
347

e EBARA

E BARA CORPORATION

347



IN-LINE CENTRIFUGAL PUMPS

CONSTRUCTION S50Hz
Rev.0
DIMENSIONS & WEIGHT 3ES 2 POLES
.
| 1
|
| ol /- .

! F 1

- -j— ; —if zZ -{ T

RN i_,[ T T &

BL ' B i l—,‘ | l.—_—f

17 B Fie | f70 N y s O
;E}:'ﬁ‘:_"— —_— T]‘- 4 | 1 §=° 1—/'" N
L1
Dimensions [ mm ] .
Model 1%} 1%} 1%} V[\llflgff]]t
DN p K S L1 L2 H1 H2 H3 Bl B2 B3 G | n A g
32-125/0.75 32 76 100 | 18 | 280 140 79 116 | 427 115 | 103 | 139 0 160 | 4 | 140 27.8
40-160/1.5 40 84 110 | 18 | 320 160 68 130 | 465 127 | 127 | 148 18 180 | 4 | 150 325
40-160/2.2 40 84 110 | 18 | 320 160 68 130 | 465 127 | 127 | 148 18 180 | 4 | 150 36.6
40-200/3.0 40 84 110 | 18 | 340 170 100 | 142 | 548 146 | 146 | 155 15 196 | 4 | 150 53.6
40-200/4.0 40 84 110 18 | 340 170 100 142 570 146 | 146 | 171 15 225 | 4] 150 55.1
40-200/7.5 40 84 110 | 18 | 340 170 100 | 165 | 650 146 | 146 | 194 14 248 | 4 | 150 86.3
50-100/0.75 50 99 125 | 20 | 280 140 75 125 | 432 125 | 108 | 139 0 160 | 4 | 165 27.8
50-125/1.5 50 99 125 | 20 | 340 170 115 | 130 | 512 124 | 105 | 148 0 180 | 4 | 165 30.3
50-125/2.2 50 99 125 | 20 | 340 170 115 | 130 | 512 124 | 105 | 148 0 180 | 4 | 165 38.8
50-160/3.0 50 99 125 | 20 | 340 170 115 | 142 | 563 134 | 126 | 155 18 196 | 4 | 165 62.4
50-160/4.0 50 99 125 20 | 340 170 115 257 585 134 | 126 | 171 18 225 | 4] 165 48.6
50-200/5.5 50 99 125 20 | 440 220 115 165 642 148 | 141 | 198 0 248 | 4 | 165 127.7
50-200/7.5 50 99 125 | 20 | 440 220 115 | 165 | 642 148 | 141 | 198 0 248 | 4 | 165 76.6
50-200/11 50 99 125 20 | 440 220 115 198 811 148 | 141 | 238 0 317 | 4 | 165 127.7
65-100/0.75 65 118 145 | 20 | 340 170 82 118 | 432 115 | 100 | 139 0 160 | 4 | 185 32.0
65-100/1.1 65 118 145 | 20 | 340 170 82 118 | 432 115 | 100 | 139 0 160 | 4 | 185 32.0
65-100/1.5 65 118 145 20 | 340 170 82 130 479 115 | 100 | 148 0 180 | 4 | 185 30.6
65-200/9.2 65 118 145 20 | 475 | 237.5 125 165 692 151 | 141 | 198 0 248 | 4 | 185 130.2
65-200/11 65 118 145 20 | 475 | 237.5 125 198 821 151 | 141 | 238 0 317 | 4| 185 130.2
65-200/15 65 118 145 20 | 475 | 237.5 125 198 821 151 | 141 | 238 0 317 | 4 | 185 166.3
80-100/1.5 80 132 160 | 22 | 360 175 97 138 | 502 134 | 108 | 148 0 180 | 8 | 200 36.4
80-100/2.2 80 132 160 | 22 | 360 175 97 138 | 502 134 | 108 | 148 0 180 | 8 | 200 40.0
80-160/9.2 80 132 160 | 22 | 440 220 115 | 165 | 682 146 | 141 | 198 0 248 | 8 | 200 109.2
80-160/11 80 132 160 22 | 440 220 115 198 811 146 | 141 | 238 0 317 | 8 | 200 108.0
80-160/15 80 132 160 | 22 | 440 220 115 | 208 | 821 146 | 141 | 238 0 317 | 8 | 200 144.1
80-200/18.5 80 132 160 | 22 | 500 250 115 | 208 | 865 160 | 141 | 238 0 317 | 8 | 200 160.3
80-200/22 80 132 160 | 22 | 500 250 115 | 208 | 900 160 | 141 | 268 0 360 | 8 | 200 198.8
100-160/11 100 156 180 24 | 550 275 140 222 860 173 | 141 | 238 0 317 | 8 | 230 144.7
100-160/15 100 156 180 | 24 | 550 275 140 | 222 | 860 173 | 141 | 238 0 317 | 8 | 230 155.9
100-160/18.5 100 156 180 | 24 | 550 275 140 | 222 | 904 173 | 141 | 238 0 317 | 8 | 230 150.1
348

e EBARA

PM10U

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.0

DIMENSIONS & WEIGHT 3ES 4 POLES

1
|

£ 1r_

PM10U

Dimensions [ mm ]
Hode A 2 2 S L1 L2 H1 H2 H3 | H4 | Bl B2 B3 G | n A V[Vlflg%r]]t
DN P K
40-200/0.55 40 84 110 |18 | 340 | 170 | 100 | 118 | 450 | 35 | 146 | 146 | 139 | 14 | 160 | 4 | 150 38.7
40-200/0.75 40 84 110 |18 | 340 | 170 | 100 | 118 | 450 | 35 | 146 | 146 | 139 | 15| 160 | 4 | 150 35.2
50-200/0.75 50 99 125 | 20 | 440 | 220 | 115 | 118 | 465 | 35 | 148 | 141 | 139 | O | 160 | 4 | 165 38.7
50-200/1.1 50 99 125 20 | 440 | 220 115 130 | 512 | 35 | 148 | 141 | 148 | O | 180 | 4 | 165 46.1
50-200/1.5 50 99 125 | 20| 440 | 220 | 115 | 130 | 512 | 35 | 148 | 141 | 148 | O | 180 | 4 | 165 47.7
65-160/0.75 65 118 145 | 20 | 360 | 180 | 105 | 118 | 455 | 35 | 141 | 141 | 139 | O | 160 | 4 | 185 38.9
65-160/1.1 65 118 145 | 20 | 360 | 180 | 105 | 235 | 502 | 35 | 141 | 141 | 148 | O | 180 | 4 | 185 47.8
80-200/2.2 80 132 160 |22 | 500 | 250 | 115 | 142 | 563 | 35 | 160 | 141 | 155 | O | 196 | 8 | 200 65.1
80-200/3.0 80 132 160 |22 | 500 | 250 | 115 | 142 | 563 | 35 | 160 | 141 | 155 | O | 196 | 8 | 200 66.8
100-160/1.5 100 156 180 24 | 550 | 275 140 144 | 551 | 35 | 173 | 141 | 148 | O | 177 | 8 | 230 76.3
100-160/2.2 100 156 180 |24 | 550 | 275 | 140 | 156 | 602 | 35 | 173 | 141 | 155 | O | 196 | 8 | 230 99.8
349

% E2ARA EBARA corroration



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

DIMENSIONS AND WEIGHT 50Hz
Rev.0
PACKING 3E - 2POLE
Pump Type Packing [mm] Pack thal net TYPE 1
7 X v Type | weight (kg)
3E 32-125/0.37 | 350 | 290 | 420 16.7 0
3E 32-125/0.55 | 350 | 290 | 420 | 1 18.2
3E 32-125/0.75 | 350 | 290 | 420 19.4
3E 40-160/1.1 | 450 | 390 | 610 34.7 \)>
3E 40-160/1.5 | 450 | 390 | 610 34.7 ]
3E 40-160/2.2 | 450 | 390 | 610 37.2
3E 40-200/3.0 | 450 | 390 | 700 46.9 z— TYPE 2
3E 40-200/4.0 | 450 | 390 | 700 49.4
3E 40-200/7.5 | 450 | 390 | 700 64.5
3E 50-100/0.37 | 450 | 390 | 610 245
3E 50-100/0.55 | 450 | 390 | 610 26
3E 50-100/0.75 | 450 | 390 | 610 27.2
3E50-125/1.5 | 450 | 390 | 610 335 [ @
3E50-125/2.2 | 450 | 390 | 610 35.5
3E 50-160/3.0 | 450 | 390 | 700 40.9
3E 50-160/4.0 | 450 | 390 | 700 49.9
3E 50-200/5.5 | 640 | 530 | 785 89.3
3E 50-200/7.5 | 640 | 530 | 785 66.9
3E50-200/11 | 640 | 530 | 785 89.3
3E 65-100/0.55 | 450 | 390 | 610 | 2 275
3E 65-100/0.75 | 450 | 390 | 610 28.7
3E 65-100/1.1 | 450 | 390 | 610 345
3E 65-100/1.5 | 450 | 390 | 610 33.8
3E 65-200/9.2 | 640 | 530 | 785 91.8
3E 65-200/11 | 640 | 530 | 1045 91.8
3E 65-200/15 | 640 | 530 | 1045 1335
3E 80-100/1.5 | 450 | 390 | 610 39.6
3E 80-100/2.2 | 450 | 390 | 610 41.6
3E 80-160/9.2 | 640 | 530 | 785 96.2
3E80-160/11 | 640 | 530 | 785 98.6
3E 80-160/15 | 640 | 530 | 1045 1403
3E 80-200/18.5 | 640 | 530 | 1045 158.1
3E 80-200/22 | 640 | 530 | 1045 169.9
3E 100-160/11 | 640 | 530 | 1045 108.9
3E 100-160/15 | 640 | 530 | 1045 140
3E 100-160/18.5 | 640 | 530 | 1045 154.2
350
EBARA CORPORATION

e EBARA



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

DIMENSIONS AND WEIGHT S0Hz
Rev.0
PACKING 3E - 4POLE
i Total net TYPE 1
Pump Type racno ol $ack weight E

Z | X |y |'Yype (kg)
3E4 40-200/0.55 | 450 | 390 | 610 35.3
3E4 40-200/0.75 | 450 | 390 | 610 38.9 \)>
3E4 50-125/0.37 | 450 | 390 | 610 28.3 |
3E4 50-200/0.75 | 640 | 530 | 785 47.3
3E4 50-200/1.1 | 640 | 530 | 785 48.2 = TYPE 2
3E4 50-200/1.5 | 640|530 ]| 785 ) 49.9
3E4 65-160/0.75 | 450 | 390 | 610 42.6
3E4 65-160/1.1 | 450 | 390 | 610 45.4
3E4 80-200/2.2 | 640 | 530 | 785 58.3 /
3E4 80-200/3.0 | 640 | 530|785 66.3 @
3E4 100-160/1.5 | 640 | 530 | 785 61.9
3E4 100-160/2.2 | 640 | 530 | 785 61.9

351
EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

DIMENSIONS AND WEIGHT 50Hz
Rev.0
PACKING 3ES - 2POLE
Pump Type Packing [mm] _I?ack Tc_)tal net TYPE 1
Z X v ype | weight (kg)
3ES 32-125/0.75 | 450 | 390 | 610 32.9
3ES 40-160/1.5 | 450 | 390 | 610 37.6
3ES 40-160/2.2 | 450 | 390 | 610 41.7 \)>
3ES 40-200/3.0 | 450 | 390 | 700 58.7 ]
3ES 40-200/4.0 | 640|530 | 785 65.1
3ES 40-200/7.5 | 640 | 530 | 785 96.3 — TYPE 2
3ES 50-100/0.75 | 450 | 390 | 610 32.9
3ES 50-125/1.5 | 450 | 390 | 700 35.4
3ES 50-125/2.2 | 450 | 390 | 700 43.9
3ES 50-160/3.0 | 450 | 390 | 700 67.5
3ES 50-160/4.0 | 640|530 | 785 58.6
3ES 50-200/5.5 | 640 | 530 | 785 137.7 L@
3ES 50-200/7.5 | 640|530 | 785 86.6
3ES 50-200/11 640 | 530 | 1045 137.7
3ES 65-100/0.75 | 450 | 390 | 610 5 37.1
3ES 65-100/1.1 | 450 | 390 | 610 37.1
3ES 65-100/1.5 | 450 | 390 | 610 35.7
3ES 65-200/9.2 | 640 | 530 | 1045 140.2
3ES 65-200/11 640 | 530 | 1045 140.2
3ES 65-200/15 640 | 530 | 1045 176.3
3ES 80-100/1.5 | 450 | 390 | 700 41.5
3ES 80-100/2.2 | 450 | 390 | 700 45.1
3ES 80-160/9.2 | 640 | 530 | 1045 119.2
3ES 80-160/11 640 | 530 | 1045 118
3ES 80-160/15 640 | 530 | 1045 154.1
3ES 80-200/18.5 | 640 | 530 | 1045 170.3
3ES 80-200/22 760 | 610 | 1280 214.6
3ES 100-160/11 | 640 | 530 | 1045 154.7
3ES 100-160/15 | 640 | 530 | 1045 165.9
3ES 100-160/18.5 | 760 | 610 | 1280 165.9
352
EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

DIMENSIONS AND WEIGHT 50Hz
Rev.0
PACKING 3ES - 4POLE
Pump Type PaCking [mm] Pack Total net TYPE 1
z X Yy | Type | weight (kg)
3ES4 40-200/0.55 | 450 | 390 | 610 43.8
3ES4 40-200/0.75 | 450 | 390 | 610 40.3
3ES4 50-200/0.75 | 640 | 530 | 785 48.7
3ES4 50-200/1.1 640 | 530 | 785 56.1
3ES4 50-200/1.5 640 | 530 | 785 57.7 |
3ES4 65-160/0.75 | 450 | 390 | 610 2 44
3ES4 65-160/1.1 450 | 390 | 700 52.9 TYPE 2
3ES4 80-200/2.2 640 | 530 | 785 75.1 -
3ES4 80-200/3.0 640 | 530 | 785 76.8
3ES4 100-160/1.5 | 640 | 530 | 785 86.3
3ES4 100-160/2.2 | 640 | 530 | 785 109.8
%
353
EBARA corroration

e EBARA



IN-LINE CENTRIFUGAL PUMPS 3E

TECHNICAL DATA 50Hz
Rev.0

MOTOR DATA 3E - 2POLE

Motor - Full load current Locked rotor current
Power N Input Efficiency (% load) A R
PumP bpe ficiency kW] 230 AEO!) 690 230 AEOEJ 690
[kW] | [HP] 50% | 75% | 100% v v v v v v
3E 32-125/0.37 037 | 05 071 | 75.1 | 785 78 2.4 1.4 - 12.7 | 7.30 -
3E 32-125/0.55 0.55 | 0.75 IE2 091 | 80.2 | 82.8 | 82.9 3.0 1.7 - 205 | 11.8 -
3E 32-125/0.75 0.75 1 1.05 | 80.9 | 823 | 82.1 3.3 1.9 - 19.7 | 114 -
3E 40-160/1.1 1.1 1.5 1.77 | 835 | 843 | 846 5.8 3.3 - 474 | 274 -
3E 40-160/1.5 1.5 2 1.77 | 835 | 843 | 846 5.8 3.3 - 474 | 274 -
3E 40-160/2.2 2.2 3 IE3 255 | 86.2 | 87.0 | 86.0 8.2 4.7 - 66.6 | 38.4 -
3E 40-200/3.0 3 4 344 | 859 | 875 | 87.1 11.1 6.4 - 90.0 | 52.0 -
3E 40-200/4.0 4 5.5 452 | 858 | 88.3 | 88.4 15.1 8.7 - 131.8 | 76.1 -
3E 40-200/7.5 7.5 10 8.26 89 90.7 | 90.8 - 13.6 7.9 - 144.0 | 83.0
3E 50-100/0.37 037 | 05 £2 071 | 75.1 | 785 78 2.4 1.4 - 127 | 7.30 -
3E 50-100/0.55 0.55 | 0.75 091 | 80.2 | 828 | 82.9 3.0 1.7 - 205 | 11.8 -
3E 50-100/0.75 0.75 1 1.05 | 80.9 | 823 | 821 3.3 1.9 - 19.7 | 11.4 -
3E 50-125/1.5 1.5 2 1.77 | 835 | 84.3 | 846 5.8 3.3 - 47.4 | 27.4 -
3E 50-125/2.2 2.2 3 255 | 86.2 | 87.0 | 86.0 8.2 4.7 - 66.6 | 38.4 -
3E 50-160/3.0 3.0 4 £3 344 | 859 | 875 | 87.1 11.1 6.4 - 90.0 | 52.0 -
3E 50-160/4.0 4 5.5 452 | 858 | 88.3 | 88.4 15.1 8.7 - 131.8 | 76.1 -
3E 50-200/5.5 55 | 7.5 6.09 | 89.2 | 90.6 | 90.4 - 10.6 6.1 - 115.3 | 67.0
3E 50-200/7.5 7.5 10 8.26 89 90.7 | 90.8 - 13.6 7.9 - 144.0 | 83.0
3E 50-200/11 11 15 11.98 | 90.4 | 91.2 | 91.8 - 21.3 | 123 - 184.0 | 107.0
3E 65-100/0.55 0.55 | 0.75 IE2 091 | 802 | 828 | 82.9 3.0 1.7 - 205 | 11.8 -
3E 65-100/0.75 0.75 1 1.05 | 80.9 | 823 | 821 3.3 1.9 - 19.7 | 11.4 -
3E 65-100/1.1 1.1 1.5 1.77 | 835 | 843 | 846 5.8 3.3 - 47.4 | 274 -
3E 65-100/1.5 1.5 2 1.77 | 835 | 843 | 846 5.8 3.3 - 47.4 | 274 -
3E 65-200/9.2 9.2 | 125 10.12 | 90.1 | 90.8 | 90.9 - 17.2 | 10.0 - 166.0 | 96.0
3E 65-200/11 11 15 11.98 | 90.4 | 91.2 | 91.8 - 21.3 | 123 - 184.0 | 107.0
3E 65-200/15 15 20 16.32 | 91.2 | 92.0 | 91.9 - 27.7 | 17.3 - 225.0 | 130.0
3E 80-100/1.5 1.5 2 1.77 | 835 | 843 | 846 5.8 3.3 - 47.4 | 274 -
3E 80-100/2.2 2.2 3 255 | 86.2 | 87.0 | 86.0 8.2 4.7 - 66.6 | 38.4 -
3E 80-160/9.2 9.2 | 125 I3 10.12 | 90.1 | 90.8 | 90.9 - 17.2 | 10.0 - 166.0 | 96.0
3E 80-160/11 11 15 11.98 | 90.4 | 91.2 | 91.8 - 21.3 | 123 - 184.0 | 107.0
3E 80-160/15 15 20 16.32 | 91.2 | 92.0 | 91.9 - 27.7 | 17.3 - 225.0 | 130.0
3E 80-200/18.5 185 | 25 19.98 | 91.6 | 93.0 | 926 - 35.0 | 203 - 328.0 | 190.0
3E 80-200/22 22 30 2358 | 92.0 | 93.1 | 93.2 - 39.7 | 236 - 391.0 | 227.0
3E 100-160/11 11 15 11.98 | 90.4 | 91.2 | 91.8 - 21.3 | 123 - 184.0 | 107.0
3E 100-160/15 15 20 16.32 | 91.2 | 92.0 | 91.9 - 27.7 | 17.3 - 225.0 | 130.0
3E 100-160/18.5 185 | 25 19.98 | 91.6 | 93.0 | 926 - 35.0 | 203 - 328.0 | 190.0
354

% E2ARA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

TECHNICAL DATA

50Hz

MOTOR DATA 3E - 4POLE

Rev.0

Efficiency (% load)

Locked rotor

Motor Full load current
N Input and power-factor current
Pump type Motor Power Efficiency [KW] n% [A] [A]

Size kW] | [HP] 50% | 75% | 100% cos—¢ 2\3;0 4\0/0 6\9/0 2\3/0 480 630
3E4 40-200/0.55 80 0.55 | 0.75 IE2 0.80 719 | 75.9 7.7 0.75 2.4 1.4 - 14.8 8.6 -
3E4 40-200/0.75 90 0.75 1 IE3 1.31 815 | 834 84.1 0.71 4.6 2.7 - 329 | 19.0 -
3E4 50-125/0.37 71 0.37 0.5 IE2 0.55 69.4 | 73.6 74.2 0.7 1.8 1.0 - 7.8 4.5
3E4 50-200/0.75 0.75 1 1.31 815 | 834 84.1 0.71 4.6 2.7 - 329 | 19.0 -
3E4 50-200/1.1 1.1 1.5 1.31 815 | 834 84.1 0.71 4.6 2.7 - 329 | 19.0
3E4 50-200/1.5 90 1.5 2 1.76 81.1 | 84.1 85.3 0.71 6.2 3.6 - 45 26.0 -
3E4 65-160/0.75 0.75 1.5 1.31 815 | 834 84.1 0.71 4.6 2.7 - 32.9 | 19.0
3E4 65-160/1.1 1.1 1.5 IE3 1.31 815 | 834 84.1 0.71 4.6 2.7 - 32.9 | 19.0
3E4 80-200/2.2 100 2.2 3 2.54 86.1 87 86.7 0.78 7.8 4.5 - 53.7 | 31.0
3E4 80-200/3 3.0 4 3.42 85.7 | 87.7 87.8 0.72 11.8 6.8 - 83.1 | 48.0 -
3E4 100-160/1.5 90 1.5 2 1.76 81.8 | 84.1 85.3 0.71 6.2 3.6 - 45.0 | 26.0
3E4 100-160/2.2 100 2.2 3 2.54 86.1 87 86.7 0.78 7.8 4.5 - 53.7 | 31.0 -

355

e EBARA

E BARA CORPORATION




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

TECHNICAL DATA

50Hz

MOTOR DATA 3ES - 2POLE

Rev.0

Efficiency (% load)

Motor and power-factor Full load current Locked rotor current
. Input [A] [Al
Pump type Power Efficiency [kW] N %
Motor cos- 400 | 690 | 230 | 400 | 690
Size | [kW] | [HP] 50% | 75% | 100% ] 230V v v v v v
3ES 32-125/0.75 80 0.75 1 1.26 | 78.7 | 81.7 81.5 0.78 4.3 2.5 - 29.4 17.0 -
3ES 40-160/1.5 90S 1.5 2 177 | 83.2 | 84.8 | 84.2 | 0.85 5.2 3.0 - 436 | 25.2 -
3ES 40-160/2.2 90L 2.2 3 2.61 | 85.0 | 86.2 86.5 0.82 8.0 4.6 - 73.3 42.3 -
3ES 40-200/3.0 0L | 3.0 4 345 | 823|858 | 87.1 | 0.89 9.7 5.6 - 85.4 | 49.3 -
3ES 40-200/4.0 112M | 4.0 55 451 | 86.8 | 87.8 88.1 0.93 12.1 7.0 - 116.4 | 67.2 -
3ES 40-200/7.5 132S | 7.5 10 8.35 | 88.6 | 89.2 | 90.1 | 0.92 - 131 | 7.6 - 116.6 | 67.3
3ES 50-100/0.75 80 0.75 1 1.26 | 78.7 | 81.7 81.5 0.78 4.3 25 - 29.4 17.0 -
3ES 50-125/1.5 90S 1.5 2 177 | 83.2 | 84.8 | 84.2 | 0.85 5.2 3.0 - 43.6 | 25.2 -
3ES 50-125/2.2 90L 2.2 3 2.61 | 85.0 | 86.2 86.5 0.82 8.0 4.6 - 73.3 42.3 -
3ES 50-160/3.0 0L | 3.0 4 345 | 823 | 858 | 87.1 | 0.89 9.7 5.6 - 85.4 | 49.3 -
3ES 50-160/4.0 112M | 4.0 5.5 451 | 86.8 | 87.8 88.1 0.93 12.1 7.0 - 116.4 | 67.2 -
3ES 50-200/5.5 1325 55 | 7.5 6.24 | 88.0 | 88,5 | 89.2 0.9 - 10.0 | 5.8 - 89.0 | 514
3ES 50-200/7.5 7.5 10 8.35 | 88.6 | 89.2 | 90.1 | 0.92 - 131 | 7.6 - 116.6 | 67.3
3ES 50-200/11 160M 11 15 12.15 | 87.4 | 89.8 91.2 0.89 - 19.7 | 11.4 - 179.3 | 103.5
3ES 65-100/0.75 80 0.75 1 IE3 1.26 | 78.7 | 81.7 81.5 0.78 4.3 25 - 29.4 17.0 -
3ES 65-100/1.1 80 1.1 2 126 | 78.7 | 81.7 | 82.7 | 0.76 4.2 2.4 - 38.7 | 223 -
3ES 65-100/1.5 90S 15 2 1.77 | 83.2 | 84.8 84.2 0.85 5.2 3.0 - 43.6 25.2 -
3ES 65-200/9.2 132M | 9.2 | 125 10.17 | 88.6 | 89.8 | 90.7 | 0.89 - 165 | 95 - 166.7 | 96.2
3ES 65-200/11 160M 11 15 12.15 | 87.4 | 89.8 91.2 0.89 - 19.7 | 114 - 179.3 | 103.5
3ES 65-200/15 15 20 16.46 | 91.0 | 91.3 | 91.9 | 0.89 - 26.7 | 15.4 - 259.0 | 149.5
3ES 80-100/1.5 90S 15 2 1.77 | 83.2 | 84.8 84.2 0.85 5.2 3.0 - 43.6 25.2 -
3ES 80-100/2.2 90L 2.2 3 261 | 850 | 86.2 | 865 | 0.82 8.0 4.6 - 73.3 | 423 -
3ES 80-160/9.2 132M | 9.2 | 125 10.17 | 88.6 | 89.8 | 90.7 | 0.89 - 165 | 95 - 166.7 | 96.2
3ES 80-160/11 160M 11 15 12.15 | 87.4 | 89.8 91.2 0.89 - 19.7 | 11.4 - 179.3 | 103.5
3ES 80-160/15 15 20 16.46 | 91.0 | 91.3 | 91.9 | 0.89 - 26.7 | 154 - 259.0 | 149.5
3ES 80-200/18.5 160L | 185 | 25 20.12 | 91.6 | 92.8 | 92.4 | 0.88 - 33.0 | 19.1 - 353.1 | 203.9
3ES 80-200/22 180 22 30 23.69 | 92.3 | 92.9 | 92.9 0.9 - 38.0 | 22.0 - 361.0 | 209.0
3ES 100-160/11 160M 11 15 12.15 | 87.4 | 89.8 91.2 0.89 - 19.7 | 11.4 - 179.3 | 103.5
3ES 100-160/15 15 20 16.46 | 91.0 | 91.3 | 91.9 | 0.89 - 26.7 | 154 - 2590.0 | 149.5
3ES 100-160/18.5 | 160L | 185 | 25 20.12 | 91.6 | 92.8 | 92.4 | 0.88 - 33.0 | 19.1 - 353.1 | 203.9
356

e EBARA

E BARA CORPORATION




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

TECHNICAL DATA

50Hz

MOTOR DATA 3ES - 4POLE

Rev.0

Efficiency (% load)

Motor Input and power-factor Full load Current Locked rotor current
Pump type Motor Power Efficiency n % cos. [A] [A]

Size [KW] [HP] [kwW] | 50% | 75% | 100% ¢ 230V | 400V | 690V | 230V | 400V | 690V
3ES4 40-200/0.55 80 0.55 | 0.75 IE2 0.80 | 67.0 | 69.0 | 70.0 | 0.72 | 2.8 1.6 - 9.9 5.7 -
3ES4 40-200/0.75 80 0.75 1 0.92 | 80.7 | 815 | 825 | 0.74| 3.1 1.8 - 17.3 | 10.0 -
3ES4 50-200/0.75 80 0.75 1 0.92 | 80.7 | 815 | 825 | 0.74| 3.1 1.8 - 17.3 | 10.0 -
3ES4 50-200/1.1 90L 11 15 1.30 | 83.3 | 84.3 | 841 | 075 | 4.3 25 - 30.7 | 17.7 -
3ES4 50-200/1.5 90L 15 2 1.80 | 84.1 | 852 | 853 | 0.72| 6.2 3.6 - 41.0 | 23.7 -
3ES4 65-160/0.75 80 0.75 1 E3 0.92 | 80.7 | 815 | 825 | 0.74| 3.1 1.8 - 17.3 | 10.0 -
3ES4 65-160/1.1 90L 11 15 1.30 [ 833|843 | 841 [0.75| 4.3 2.5 - 30.7 | 17.7 -
3ES4 80-200/2.2 1o00L | 2.2 3 258 | 83.2 | 86.2 | 86.7 | 0.63 | 10.2 5.9 - 73.6 | 425 -
3ES4 80-200/3 100L | 3.0 4 3.44 | 851|871 | 87.7 | 073 | 11.8 6.8 - 95.4 | 55.1 -
3ES4 100-160/1.5 90L 15 2 1.80 | 84.1 | 852 | 853 | 0.72 | 6.2 3.6 - 41.0 | 23.7 -
3ES4 100-160/2.2 oL | 2.2 3 258 | 83.2 | 86.2 | 86.7 | 0.63 | 10.2 5.9 - 73.6 | 425 -

357

e EBARA

E BARA CORPORATION




IN-LINE CENTRIFUGAL PUMPS 3E

TECHNICAL DATA 50Hz
Rev.0

NOISE DATA 2POLE

Noise data 3E-2P Noise data 3ES-2P
Pump type [kWTowe[rHP] LpA - dB(A) * Pump type [kWI]Dowe[rHP] LpA - dB(A) *

3E 32-125/0.37 0.37 0.5 61 3ES 32-125/0.75 0.75 1
3E 32-125/0.55 0.55 0.75 62 3ES 40-160/1.5 15 2
3E 32-125/0.75 0.75 1 3ES 40-160/2.2 2.2 3 <70
3E 40-160/1.1 1.1 1.5 3ES 40-200/3 3 4
3E 40-160/1.5 15 2 69 3ES 40-200/4 4 5.5
3E 40-160/2.2 2.2 3 3ES 40-200/7.5 7.5 10 72
3E 40-200/3 3 4 26 3ES 50-100/0.75 0.75 1
3E 40-200/4 4 5.5 3ES 50-125/1.5 15 2
3E 40-200/7.5 7.5 10 79 3ES 50-125/2.2 2.2 3 <70
3E 50-100/0.37 0.37 0.5 61 3ES 50-160/3 3 4
3E 50-100/0.55 0.55 0.75 62 3ES 50-160/4 4 5.5
3E 50-100/0.75 0.75 1 3ES 50-200/5.5 5.5 7.5 2
3E 50-125/1.5 15 2 69 3ES 50-200/7.5 7.5 10
3E 50-125/2.2 2.2 3 3ES 50-200/11 11 15 74
3E 50-160/3 3 4 26 3ES 65-100/0.75 0.75 1
3E 50-160/4 4 5.5 3ES 65-100/1.1 1.1 15 <70
3E 50-200/5.5 5.5 7.5 3ES 65-100/1.5 15 2
3E 50-200/7.5 7.5 10 79 3ES 65-200/9.2 9.2 12.5 72
3E 50-200/11 11 15 3ES 65-200/11 11 15 24
3E 65-100/0.55 0.55 0.75 61 3ES 65-200/15 15 20
3E 65-100/0.75 0.75 1 62 3ES 80-100/1.5 15 2 <70
3E 65-100/1.1 1.1 1.5 69 3ES 80-100/2.2 2.2 3
3E 65-100/1.5 15 2 3ES 80-160/9.2 9.2 12.5 72
3E 65-200/9.2 9.2 12.5 82 3ES 80-160/11 11 15
3E 65-200/11 11 15 3ES 80-160/15 15 20 74
3E 65-200/15 15 20 86 3ES 80-200/18.5 18.5 25
3E 80-100/1.5 15 2 69 3ES 80-200/22 22 30 77
3E 80-100/2.2 2.2 3 3ES 100-160/11 11 15
3E 80-160/9.2 9.2 12.5 82 3ES 100-160/15 15 20 83-82
3E 80-160/11 11 15 3ES 100-160/18.5 18.5 25
3E 80-160/15 15 20
3E 80-200/18.5 18.5 25 86
3E 80-200/22 22 30
3E 100-160/11 11 15 80
3E 100-160/15 15 20
3E 100-160/18.5 18.5 25 83-82
* Mean value of several measures at 1m distance around the pump.

Tolerance +2.5dB.

Sound pressure level of motor pumps with AEG

358

% E2ARA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

TECHNICAL DATA 50Hz
Rev.0

NOISE DATA 4POLE

Noise data 3E-4P Noise data 3ES-4P
Pump type [kWTowe[rHP] LpA - dB(A) * Pump type [kWI]Dowe[rHP] LpA - dB(A) *

3E4 40-200/0.55 0.55 0.75 3ES4 40-200/0.55 0.55 0.75
3E4 40-200/0.75 0.75 1 3ES4 40-200/0.75 0.75 1
3E4 50-125/0.37 0.37 0.5 3ES4 50-200/0.75 0.75 1
3E4 50-200/1.5 15 2 3ES4 50-200/1.1 1.1 15
3E4 50-200/1.1 1.1 1.5 3ES4 50-200/1.5 15 2
3E4 50-200/0.75 0.75 1 <70 3ES4 65-160/0.75 0.75 1 <70
3E4 65-160/1.1 1.1 1.5 3ES4 65-160/1.1 1.1 1.5
3E4 65-160/0.75 0.75 1 3ES4 80-200/2.2 2.2 3
3E4 80-200/2.2 2.2 3 3ES4 80-200/3 3 4
3E4 80-200/3 3 4 3ES4 100-160/1.5 15 2
3E4 100-160/1.5 15 2 3ES4 100-160/2.2 2.2 3
3E4 100-160/2.2 2.2 3
* Mean value of several measures at 1m distance around the pump.

Tolerance 2.5 dB.

Sound pressure level of motor pumps with AEG

359

% E2ARA EBARA corroration

PM10U



EBARA Corporation
11-1, Haneda Asahi-cho, Ota-ku,
Tokyo 144-8510

Japan

Tel +81 3 6275 7598

Fax +81 3 5736 3193
www.ebara.com

ESARA

EBARA Pumps Europe S.p.A.

Via Torri di Confine 2/1 int. C
36053 Gambellara (Vicenza), ltaly
Tel +39 0444 706811
Fax +39 0444 405811
ebarapumps.epe@ebara.com
www.ebaraeurope.com

The contents of this publication must not be considered binding.

EBARA Pumps Europe S.p.A. reserves the right to make any modifications considered necessary without prior notice.

11/22

REV. 0





